

Republic of the Philippines Department of Agriculture BUREAU OF SOILS AND WATER MANAGEMENT SRDC Building Elliptical Road corner Visayas Avenue, Diliman, Ouezon City 1101 customers.center@bswm.da.gov.ph Tel. no. (632) 8273-2474 local 3202

BSWM-BIDS AND AWARDS COMMITTEE SUPPLEMENTAL BID BULLETIN NO. 1

CONTRACT: Re-Bid of Supply and Delivery of various Inks and ICT

Equipment, Supplies and Peripherals Batch 2 for CY 2024 - IB

NO: BSWM-2024-10-062

This Addendum is being issued in accordance with Section 22.5.2 of the IRR of RA 9184, to clarify and modify some provisions of the Bidding Document. THIS SHALL FORM AN INTEGRAL PART OF THE BID DOCUMENT. Likewise, the succeeding agreements and reminders were discussed during the Pre-Bid Conference held last October 17, 2024 at the BSWM Function Room and via Video-conferencing-Zoom.

AMENDMENTS OF THE BIDDING DOCUMENT:

ORIGINAL	AMENDMENT
Project Title: Re-Bid of Supply and Delivery of various Inks and ICT Equipment, Supplies and Peripherals Batch 2 for CY 2024	Project Title: Re-Bid of Supply and Delivery of various Inks and ICT Equipment, Supplies and Peripherals Batch 2 for CY 2024
<u>IB NO: BSWM-2024-10-061</u>	IB NO: BSWM-2024-10-062

Section I. Invitation to Bid

1. The Bureau of Soils and Water Management (BSWM), through the General Appropriation Act for CY 2024 intends to apply the sum of:

LOT NO.	CATEGORY	AMOUNT	Bid Docs Cost
1	Personal Computers	5,024,300.00	5,100.00
2	Other ICT Equipment	5,345,700.00	5,500.00
3	ICT Peripherals and Supplies	2,233,400.00	3,500.00
4	Toner Cartridge	3,747,160.00	4,000.00
5	Ink Cartridge	999,300.00	1,000.00
6	Ink Tank	432,200.00	500.00
TOTAL		17,782,060.00	

Section I. Invitation to Bid

1. The Bureau of Soils and Water Management (BSWM), through the General Appropriation Act for CY 2024 intends to apply the sum of:

LOT NO.	CATEGORY	AMOUNT	Bid Docs Cost
1	Personal Computers	5,024,300.00	5,100.00
2	Other ICT Equipment	5,345,700.00	5,500.00
3	ICT Peripherals and Supplies	2,233,400.00	3,500.00
4	Toner Cartridge	3,623,160.00	3,000.00
5	Ink Cartridge	999,300.00	1,000.00
6	Ink Tank	432,200.00	500.00
TOTAL		17,658,060.00	

ORIGINAL	AMENDMENT				
Section II. Clause 5.3	Section II. Clause 5.3				
a. For the procurement of Non-expendable Supplies and Services: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least fifty percent (50%) of the ABC (For Lots 1 and 2)	c. For the procurement of Non-expendable Supplies and Services: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least fifty percent (50%) of the ABC (For Lots 1 and 2)				
b. For the procurement of Expendable Supplies: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least twenty-five percent (25%) of the ABC (For Lots 3 and 6)	d. For the procurement of Expendable Supplies: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least twenty-five percent (25%) of the ABC (For Lots 3 to 6)				
Sealing and Marking of Bids	Sealing and Marking of Bids				
	For Bidders who intend to bid for one or several lots , Bidders shall submit ONE (1) BID PROPOSAL (containing Technical and Financial Envelope - original and duplicate copy) for every lot to be participated.				
	 One (1) ORIGINAL COPY. One (1) DUPLICATE COPY. One (1) PDF COPY in a USB – to be placed inside the Duplicate Copy of Technical Proposal and Duplicate Copy of Financial Proposal. 				
Section VII. Technical Specifications	Revised Section VII. Technical Specifications (see Annex A)				

CLARIFICATIONS	AGREEMENT
For Statement of Ongoing Contracts, are we required to attach supporting documents e.g. NOA or NTP or P.O.?	No. Such documents are not mandated to be submitted in compliance to GPPB Circular No. 04-2020 (Guidelines in the Preparation of the Simplified Philippine Bidding Documents for Goods and Infrastructure Projects and the Submission of the Required Forms to be included in the Procurement of Goods, Infrastructure Projects, and Consulting Services)

REMINDERS DURING THE PRE-BID CONFERENCE:

RA 9184 Section 30.1:

Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

"Any lacking document can cause the submitted bid to be automatically rated failed."

GPPB Resolution No. 15-2021 dated October 14, 2021

For the purpose of updating the Certificate of Registration and Membership, all Class "A" eligibility documents mentioned in Section 8.5, supporting the veracity, authenticity and validity of the Certificate shall remain current and updated. The failure by the prospective bidder to update its Certificate with the current and updated Class "A" eligibility documents shall result in the automatic suspension of the validity of its Certificate until such time that all of the expired Class "A" eligibility documents has been updated.

Below are the acceptable forms of bid security that bidders may opt to use, which shall include
the Bid Securing Declaration. The amount of which shall not be less than the required percentage
of the ABC in accordance with the following schedule:

Form of Bid Security	Amount of Bid Security (Not less than the required Percentage of the ABC)
Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Two percent (2%)
Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Two percent (2%)
Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Five percent (5%)
Bid Securing Declaration (Signed and Notarized)	

NOTE: Bidders SHALL use ATTACHED template of Bid Securing Declaration.

Other forms of Bid Securing Declaration will NOT BE ACCEPTED and SHALL BE RATED "FAILED".

Please note that your Bids and Bid Securities should be valid and firm for a period that shall not exceed one hundred twenty (120) calendar days after the date of the opening of bids.

• Net Financial Contracting Capacity (NFCC):

The computation of a prospective bidder's NFCC must be **at least equal to the ABC to be bid** or, for procurement by lot, **at least equal to the sum of all the ABCs of lots to which it participated.**

NFCC= Current assets minus current liabilities multiplied by 15 (constant factor) minus the value of all outstanding or uncompleted portions of on-going contracts, including awarded contract/s yet to be started, coinciding with the contract to be bid.

Awarding and Delivery Requirement:

<u>Delivery of goods is required within 60 calendar days upon receipt of NTP.</u>

Important Reminders:

Supplier shall coordinate with the End-user and Property Management Unit for the final schedule of delivery.

To schedule the delivery, please click this link or scan the QR code:

https://sites.google.com/view/pmuscheduleofdelivery/home



Sealing and Marking of Bid:

The bidders shall submit:

- ✓ One (1) ORIGINAL COPY.
- ✓ One (1) DUPLICATE COPY.
- ✓ One (1) PDF COPY in a USB to be placed inside the Duplicate Copy of Technical Proposal and Duplicate Copy of Financial Proposal.

NOTE:

- All photocopied documents must be stamped and signed "Certified True Copy".
- And all pages/documents must be duly signed by the authorized representative (both original and duplicate copies).
- For easy reference, all bidders are requested to provide dog-ear codes/ tabs in the presentation of their documents.
- One (1) bid proposal for each lot participated in, if applicable

Reminders:

- Bidders responsibility to read, study, and review the Bidding Document and Bid Bulletin/s of the procurement project.
- Further clarification/s on the Bidding Document shall be in writing and must be submitted 10 days before the Opening of Bids.
- All bidders who wish to join the bidding shall download the attached document from PhilGEPS website to be included in the Document Request List (DRL).
- Bidders may download the updated Bidding Forms at GPPB Website (https://www.gppb.gov.ph/downloadables.php).
- In case of withdrawal of submitted bid, a letter stating their intention to withdraw from the project should be submitted by the bidder not later than the scheduled deadline of submission and opening of bids.
- Bidders declared to have the Lowest/ Single Calculated Bid will be subject for Post-qualification.
- Bidder shall submit the additional requirements listed on the NOTICE as LCB/ SCB within five (5) calendar days from receipt of Notice for Post qualification. Non-compliance can be grounds for post-disqualification.
- Winning Bidders declared to have the Lowest/Single Calculated and Responsive Bid shall submit its Performance Bond and Signed Contract Agreement within ten (10) calendar days from receipt of Notice of Award. Non-compliance can be grounds for forfeiture of award.
- Bidders shall comply **STRICTLY** with Section VI. Schedule of Requirement

Note:

NO EXTENSION shall be accepted/ entertained except on meritorious grounds. Late delivery without approved extension request shall be liable for liquidated damages in accordance with Section 3.1 Annex D of RA 9184.

Letter of extension shall be received by the BAC Secretariat before the lapse of the original delivery requirement.

Clause 4. Section II. Instruction to Bidders: Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

A complete set of Bidding Document may be acquired by interested Bidders until **October 28, 2024 3:00PM** from the address and website.

DEADLINE/SCHEDULE OF SUBMISSION AND OPENING OF BIDS:

Deadline of submission of bid proposals is on October 29, 9:00AM. Late submission shall not be accepted.

Opening of Bids is on October 29, 2024, 9:30AM at BSWM Convention Hall and via videoconferencing

For guidance and information of all concerned.

Digitally signed by DENISE A. SOLANGIANO Denise

BAC Chairperson Apaullo

ANNEX A

Revised Technical Specifications

LOT 1 - PERSONAL COMPUTERS

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
LSD-NSHP	1	Desktop Computer (Office Document	8	unit	
(8)		Advance)			
		Processor: Core: at least 6; Threads: at least			
		12;			
		Cache: at least 32; Max/Boost Frequency			
		(GHz): at least 5.1			
		GPU: at least 6GB VRAM, GDDR6			
		GPU Output: at least DisplayPort 1.4a x 2 &			
		HDMI 2.1a x 2			
		RAM: 8GB DDR4 3200MHz, upgradable up			
		to 16gb			
		Form Factor: Form Factor: Mid Tower			
		(atleast H:14.5in by W:6in)			
		Motherboard: at least 2 x M.2 Slot, 4 x RAM			
		Slot: Interface: 1xHDMI, 1xVGA			
		Internal Storage: 500 GB m.2 NVMe Gen 4			
		Internal Storage: 1TB HDD			
		Power Supply: Rating at least 500 watts			
		80+ Bronze			
		Display: at least 27-inch Monitor			
		Display Refresh Rate: at least 75hz			
		Display Panel Type: IPS			
		Display Response Time: up to 5 ms			
		Combo Wireless Keyboard & Mouse: 2.4Ghz			
		wireless connection; Wireless Range: at			
		least 30ft; keyboard Type: Full size; 3-zone			
		layout; Mouse: at least 3 buttons			
		Operating System: Should be licensed and			
		latest professional edition, 64-bit			
		Productivity Suites: Should be licensed,			
		latest and compatible with the existing			
		productivity suites (MS Office)"			

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
ALMED-LFP-NSHP (3) SCMD-SLRM A (1) CPIT-PAEF Rice & FPMA HVCDP(20) WRMD-INS Various Continuing(2) WRMD-Rice ESETS Continuing (3)	2	Processor: Core: at least 12; Threads: at least 20; Cache: at least 25; Max/Boost Frequency (GHz): at least 4.9 GPU: on-board/shared RAM: 8GB DDR4 3200MHz, upgradable up to 16gb Form Factor: Form Factor: Mid Tower (atleast H:14.5in by W:6in) Motherboard: at least 1 x M.2 Slot, 2 x RAM Slot: Interface: 1xHDMI, 1xVGA Internal Storage: 256 GB m.2 NVMe Gen 4 Internal Storage: 1TB HDD Power Supply: Rating at least 500 watts 80+ Bronze Display: at least 24-inch Monitor Display Panel Type: IPS Display Response Time: up to 5 ms Combo Wireless Keyboard & Mouse: 2.4Ghz wireless connection; Wireless Range: at least 30ft; keyboard Type: Full size; 3-zone layout; Mouse: at least 3 buttons Operating System: Should be licensed (Perpetual) and latest professional edition, 64-bit Productivity Suites: Should be licensed (Perpetual), latest and compatible with the existing productivity suites (MS Office - at	29	unit	
ALMED-LFP-NSHP (5) WRMD-INS Various 2024-Rice ESETS (4) Manila Bay (1) SCMD-SLRM A (1) SWRRD-Hill PEZ-Continu ing Fund (3) NSWRRD-Hil IPEZ-RD-VE RMI (1) NSWRRD-LU PEZ-RD-Lysi meter-Curre nt(1) WRMD-Rice	3	Laptop Computer (Office Document BASIC) Processor: Core: at least 8; Threads: at least 16; Cache: at least 16MB; Max Turbo Frequency (GHz): at least 4.6 Storage: at least 512GB M.2 NVMe SSD Memory: at least 16GB, DDR4/single 16GB or dual 8GB Camera: at least 720p Screen size: at least 15.6-inch Display Type: FHD Battery Type: at least 53 WH; at least 3 cell battery Battey Charger: Must be same brand with the offered unit Operating System: Should be licensed and latest professional edition, 64-bit Productivity Suites: Should be licensed and compatible with the existing productivity suites (MS Office)	28	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
ESETS Continuing					
(12)					
SCMD-GEF6 (4)	4	Laptop (Office Document Advance) Processor: Core: at least 10; Threads: at least 12; Cache: at least 12MB; Max Turbo Frequency (GHz): at least 5.0 Storage: at least 512GB SSD M.2 2242 PCIe 4.0x4 NVMe Memory: at least 16GB, DDR4 3200MHz (upgradable) Camera: at least 720p Screen size: at least 75.6 inch Display Type: IPS Battery Type: at least 50WH; at least 3 cell battery Battey Charger: Must be same brand with the offered unit Operating System: Should be licensed and latest professional edition, 64-bit Productivity Suites: Should be licensed, latest and compatible with the existing productivity suites (MS Office)	4	unit	
GSITD-ICT-S TO Current (3) LSD-NSHP (8)	5	Processor: Core: at least 16; Threads: at least 22; Cache: at least 24MB; Max Turbo Frequency (GHz): at least 5.1 Storage: at least 1TB NVMe Gen4 Memory: at least 16GB DDR5 GPU: at least 6GB dedicated Camera: at least 720p FHD Screen size: at least 14.5 inch Display Type: IPS, at least 90Hz Battery Type: at least 73WH Battery Charger: Must be same brand with the offered unit Weight: up to 1.49kg/3.28lbs Operating System: Should be licensed and latest professional edition, 64-bit Productivity Suites: Should be licensed, latest and compatible with the existing productivity suites (MS Office)	11	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
SCMD-GEF6	6	Laptop (Mapping/CAD/System Dev't -	2	unit	
(1)		Advance)			
		Processor: Core: at least 24; Threads: at			
		least 32; Cache: at least 36MB; Max Turbo			
		Frequency (GHz): at least 5.8 Storage: at least 1TB NVMe Gen4			
		Memory: at least 16GB, DDR5/single			
		16GB or dual 8GB (upgradable using two			
		soDIMM modules)			
		GPU: at least 8GB dedicated			
		Camera: at least 720p			
		Screen size: at least 15.6 inch			
		Display Type: IPS, at least 165Hz			
		Battery Type: at least 90WH; at least 4 cell			
		battery			
		Battey Charger: Must be same brand with			
		the offered unit			
		Operating System: Should be licensed and latest professional edition, 64-bit			
		Productivity Suites: Should be licensed,			
		latest and compatible with the existing			
		productivity suites (MS Office)			
Accessories fo		Laptop Sleeve or laptop Bag/Backpack with			
Unit and its co	mponent	must not be a clone			
Brand and mo		d should be indicated on the technical			
	equipmen	t must be at least 1 year warranty on parts			
Bidder must s	ubmit Sup	pliers Performance Evaluation with at least mit during post qual)			
Delivery Date	- within 60) days			

LOT 2 - OTHER ICT EQUIPMENT

	EK IC	TEQUIPMENT			
PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
2024-07-12 12-LSD- NSHP	1	Barcode Printer Print Technology: Direct Thermal Print labels up to 36mm in width Maximum print height: 32mm print resolution: 360dpi Minimum label length: 4mm Maximum label length: 1m Connectivity: USB: Windows® (USB1.1, 2.0, 3.0 protocol) Wired Network: 10 Base-T/100 Base-TX Serial: RS-232C (For printing with ESC/P commands only. Requires an optional serial adapter.) Wireless Direct: IEEE 802.11n Ad-Hoc mode: IEEE802.11b Infrastructure mode: IEEE802.11b/g/n WPS 2.0 Bluetooth 2.1 Barcode Supported: 1D: CODE39, CODE128, ITF 2/5, EAN13, EAN8, UPC-A, UPC-E, CODABAR, GS1-128 (UCC/EAN128) QR Code Supported: 2D: QR Code, PDF417, Data Matrix, Aztec Code, RSS-14 (Standard, Truncated, Stacked, StackedOmni), RSS-Limited, RSS Expanded (Standard, Stacked) Features: Built in Automatic label cutter	20	unit	
	2	Barcode/QR Scanner Form Factor: Handheld Connectivity: Wireless / Cable Connection: 2.4 GHz mini Wireless USB Dongle / 2.0 USB Cable Scanner Capability: 1D Barcodes: Codabar, Code 11, Code93, MSI, Code 128, UCC/EAN-128, Code 39, EAN-8, EAN-13, UPC-A, ISBN, Industrial 25, Interleaved 25, Standard 25, Matrix, + more. 2D Barcodes: QR, DataMatrix, PDF417, Aztec, Hanxin, Micro PDF417, + more. Scan Pattern: Linear + QR Codes Scanner Type: CMOS Battery Capacity: 2000mAh	20	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
GSITD-ICT- STO Current	3	Camera (Advance) Type: Digital single-lens mirrorless (Interchangeable Lens Camera) Image Sensor: APS-C CMOS sensor Image Processor: DIGIC X Effective Pixels: 24.2MP Focus Type: Dual Pixel CMOS AF II AF Mode: One Shot Servo AF Auto Switch (only in A+ mode) Built-in Flash GN (ISO 100, meters): 6 Video Quality: 4K30 Video, 4K60 with Crop; HDR-PQ Brightness Adjustment: Manual: Adjustable to one of seven levels Colour Tone Adjustment: 4 settings Viewfinder: 0.39 inch OLED colour EVF LCD Type: 7.5 cm (2.95") TFT colour LCD monitor Interface: USB 2.0 to USB Type-C Wireless Lan (2.4GHz) Bluetooth 4.2 HDMI Micro out (Type D, HDMI-CEC not supported) External Microphone In (3.5mm Stereo mini jack) Storage Type: SD/SDHC/SDXC and UHS-II With 18-150mm f/3.5-6.3 IS STM Lens, Camera Strap, Battery Pack, Battery Charger	1	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
SSD-LFP-NSH P (2) NSWRRD- HighPEZ-RD- LTR (1) CPIT-PAEF Rice(3) SCMD-SLRM A (1) WRMD-INS Various Continuing (1)	4	Camera (Basic) Type: Digital single-lens mirrorless (Interchangeable Lens Camera) Image Sensor: 24.1 megapixels; APS-C CMOS Processor Type: DIGIC 8 Autofocus: 143 Focus points Autofocus Modes: One-Shot AF, Servo AF / Movie Servo AF Image Resolution: up to 6000x4000 Video Shooting: 4K at 23.98 fps 1920 x 1080 at 59.94 fps [60 Mb/s] 1920 x 1080 at 23.98/29.97 fps [30 Mb/s] Memory Card Slot: Single Slot - SD/SDHC/SDXC Wireless: 2.4 GHz Wi-Fi (802.11b/g), Bluetooth 4.2 Display Type: Fixed Non-Touchscreen LCD Battery Type: 1x LP-E17 Rechargeable Lithium-Ion Display Size: 3" Peripheral Connections: USB Type-C (Hi-Speed USB (USB 2.0) equivalent External microphone IN Terminal HDMI micro (Type D) Remote control Terminal(E3) Accessory shoe	8	unit	
LSD-NSHP(2 0) SWRRD-LUP EZ-RD-Soil Tank (1)	5	Communication Device CPU: at least Octa-Core Display Type: Super AMOLED Screen Size: at least 6.6 inches Screen Resolution: at least 1080 x 2340 pixels Screen Brightness: at least 1000 nits Operating System: at least Android 14 Chipset:Exynos 1480 RAM: at least 8GB Storage: at least 256GB Battery: at least Li-Ion 5000 mAh Camera: at least 50MP Front Camera at least 32MP Rear Camera Positioning: GPS, GALILEO, GLONASS, BDS, QZSS Bluetooth Version: 5.3	21	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
SWRRD-LUP EZ-RD-Conti nuing	6	Document Scanner (Portable) Technology: Dual CIS Resolution: up to 1200 x 1200 dpi Scanning Width: up to 215.9 mm Scanning Length: up to 1,828 mm Power Source: USB Type-B Battery: Lithium 1200 mAh Interface: USB 3.0 Micro SD: 2GB – 32GB Wireless LAN: IEEE 802.11b/g/n, IEEE 802.11g (Wi-Fi Direct) Features: Duplex scanning ID Card scanning (up to 1 mm) LED display	1	unit	
ADMIN-Regu lar (2 Records) CPIT-PAEF Rice(1)	7	Type: Sheetfed Scanner Sensor Type: Colour Contact Image Sensor Resolution: up to 600 DPI x 600 DPI ADF Paper Capacity: up to 50 Sheets Duplex Scan: Yes Document Sizes: Paper size Minimum: 50.8 x 50.8 mm Paper size Maximum: 215.9 x 6096 mm Interface: USB 3.2 Gen 1 USB 3.2 Gen 1, Wi-Fi (802.11 b/g/n)	3	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
SCMD- Manila Bay (1) SCMD-GEF6(2) SCMD-SLRM A (1) 2024-07-121 2-LSD-NSHP (1)	8	Handheld Action Camera Camera type: Handheld/Action Camera Microphones: 3 Screen Size: 2.0 inches Resolution: 314×556 Brightness: 700 nits Controllable Range: Pan: -235° to 58°; Tilt: -120° to 70° Roll: -45° to 45° Mechanical Range: Pan: -240° to 63°; Tilt: -180° to 98° Roll: -220° to 63° Max Controllable Speed: 180.0°/s Sensor: 1-inch CMOS Aperture: f/2.0 ISO Range: Photo: 50-6400 Video: 50-6400 Low-Light Video: 50-16000 Slow Motion: 50-6400 Max Image Size: 16:9, 3840×2160 1:1, 3072×3072 Max Video Resolution: 4k Max Video Bitrate: 130 Mbps Battery Type: LiPo Battery Capacity: 1300 mAh Wireless Connection: Bluetooth 5.2 & Wi-Fi	5	unit	
GSITD-ICT- STO Current	9	ID Printer Print Technology: Colour dye sublimation, Monochrome thermal printing and Rewritable technology Feed System: Manual/Automatic Card Capacities: Card input: at least 100 Card output: at least 70 Connectivity: USB 2.0 Type A Ethernet Interface (100-Base TX/ 10-Base-Tc) Card Thickness: 0.50mm to 1.27mm (20mil to 50mil) Features: Dual Sided Printing Edge to edge print Digital shredding	1	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
GSITD-ICT-ST O Current	10	Multi-Media Display Smart TV Screen Size: at least 70 inch TV Resolution: at least 4K Panel Type: LED Refresh Rate: 60Hz Operating System: WebOS Wireless: Wi-Fi 802.11ac, Bluetooth 5.1 Audio Output: at least 20W I/O Ports: HDMI x 3 USB 2.0 x 2 Ethernet LAN x 1 Digital Audio Out(Optical) x 1 RF (Antenna/Cable) x 2 With TV Cart Stand	1	unit	
LSD-NSHP (3)	11	Multi-Media Display Type: Smart TV Screen Size: at least 50 inch TV Resolution: at least 4K Panel Type: QLED Refresh Rate: 60Hz Operating System: Tizen SmartTV Wireless: Wi-Fi 802.11ac, Bluetooth 5.2 Audio Output: at least 20W I/O Ports: HDMI x 3 USB 2.0 x 2 Ethernet LAN x 1 Digital Audio Out(Optical) x 1 RF In (Terrestrial / Cable input) x 1	3	unit	
CPIT-PAEF FPMA HVCDP (2)	12	Multi-Media Display Type: Smart TV Screen Size: at least 50 inch TV Resolution: at least 4K Panel Type: LED Refresh Rate: 60Hz Bluetooth: 5.2 Speaker: at least 20w Wi-Fi 5: 2.4G & 5G 3-Side Bezel-less I/O Ports: HDMI 2.1 x 3 USB-A x 1 Ethernet Lan x 1 Digital Audio out (optical) RF in (Terrestrial/Cable input) Anynet+ (HDMI-CEC)	2	unit	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
GSITD-AFACI PAN (10)	13	Multi-Purpose Geotagging Device Chipset: Qualcomm SM8550-AC Snapdragon 8 Gen 2 Operating System: at least android 13 Screen Size: at least 6.8 inches Screen Resolution: at least 1440 x 3088 pixels Screen Brightness: at least 1750 nits Display Type: Dynamic AMOLED 2X, 120Hz RAM: at least 8GB Storage: at least 128GB Battery: at least 5000 mAh Network Technology: GSM / CDMA / HSPA / EVDO / LTE / 5G Camera: at least 12MP Front Camera at least 200MP Rear Camera	10	unit	
SCMD- Manila Bay (1) SCMD-GEF6 (5) SCMD-SLRM A (2) SSD-LFP-NSH P (3)	14	Multi-Purpose Geotagging Device CPU: at least Octa-Core Display Type: TFT LCD Screen Size: at least 12.4 inches Screen Resolution: at least 1600 x 2560 pixels Screen Brightness: at least 522 nits Operating System: at least Android 11 Chipset: Qualcomm SM7225 Snapdragon 750G 5G (8 nm) - 5G RAM: at least 6GB Storage: at least 128GB Battery: at least LiPo 10090 mAh Sim Type: Nano Camera: at least 5MP Front Camera at least 8MP Rear Camera Positioning: GPS, GLONASS, BDS, GALILEO with Precision pen and keyboard pack	11	unit	
LSD-NSHP(1 6) CPIT-PAEF Rice(16)	15	Network Printer (Basic) Printer Type: Inktank Printer Function: Print, Scan, Copy & Fax (With ADF and Flatbed) Maximum Resolution: 4800 x 1200 dpi Paper Sizes: A4, Letter, Legal and A3 Number of Paper Trays: 2 Automatic 2-Sided Printing (up to A4/Letter) Interface: USB 2.0 Network: Wireless, Mopria, AirPrint, Direct Wireless, Ethernet	32	unit	

PR #/Division/	Item No.	Description	Quant ity	Unit	Statement of Compliance
Fund Source	NU.		ity		
GSITD-ICT-		Network Printer (Advance)			
STO Current		Printer Type: Inktank			
		Printer Function: Print, Scan, Copy & Fax			
		(With ADF and Flatbed)			
		Maximum Copy Size: A3			
		Copy Resolution: At least 600 x 600 dpi			
		Scanning Resolution: At least 1200 x 2400 dpi			
		Scanner Sensor Type: CIS			
		Maximum Printing Resolution: At least 4800 x			
		1200 dpi			
		Paper Sizes: A3, Super B (13 x 19"), Indian			
		Legal, Letter, A4, 16K (195 x 270mm), 8K (270 x 390mm), Executive (7.25 x 10.5"), B4, B5, A5,			
		B6, A6, 8.5 x 13", 5 x 7", 4 x 6", 8 x 10", Legal			
		(8.5 x 14"), 16:9 wide, Envelopes: #10, DL, C6,			
		C4			
		Number of Paper Trays: 3 (2 Front, 1 Rear)			
	16	Automatic 2-Sided Printing (up to A3)	1	unit	
	10	Printing Speed:	1	unit	
		Draft, A4 (Black / Colour): Up to 32.0 ppm /			
		32.0 ppm *2			
		ISO 24734, A4 Simplex (Black / Colour): Up to			
		25.0 ipm / 25.0 ipm *2			
		ISO 24734, A4 Duplex (Black / Colour): Up to			
		21.0 ipm / 21.0 ipm *2			
		ISO 24734, A3 Simplex (Black / Colour): Up to			
		13.5 ipm / 13.5 ipm *2			
		ISO 24734, A3 Duplex (Black / Colour): Up to			
		10.0 ipm / 10.0 ipm *2			
		LCD Screen: at least 4.3" Colour LCD Touch			
		Screen			
		Interface: USB 2.0			
		Network: Ethernet, Wi-Fi (IEEE 802.11b/g/n),			
		Wi-Fi Direct			
WDMD DICE		LCD Screen: 4.3" Colour LCD Touch Screen			
WRMD-RICE		Printer (Portable)			
PSS (6) ADMIN-		Print Method: Micro Piezo Print Type: InkJet			
Regular (2		Print Type: Inkjet Printer Function: Print			
Personnel &		Maximum Resolution: At least 5760 x 1440 dpi			
Planning)		Paper Sizes: Legal, Letter, A4, B5, A5, A6, 8x10",			
WRMD-INS		5x7", 4x6", Envelopes: #10, DL, C6			
Various	17	Number of Paper Trays: 1	12	unit	
Continuing		Interface: USB 2.0			
(1)		Network: Wi-Fi (IEEE 802.11b/g/n), Wi-Fi			
WRMD-Rice		Direct			
ESETS		Built-in Battery			
Continuing					
(3)					

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
NSWRRD- HighPEZ-RD- LTR (2) ADMIN-PMU -Regular Fund (2)	18	Printer (Desktop) Printer Type: Inktank Printer Function: Print, Scan, Copy & Fax (With ADF and Flatbed) Maximum Printing Resolution: 4800 x 1200 dpi Number of Paper Trays: 1 Interface: USB 2.0 Network: Wireless, Mopria, AirPrint, Direct Wireless Borderless Printing (A4 / Letter / 4 x 6" / 5 x 7" / 8 x 10" / Square (5 x 5") / Business Card)	4	unit	
SSD-LFP-NSH P (2) NSWRRD- HighPEZ-RD- LTR (1)	19	Projector Light Source Type: LCD Native Resolution: WXGA (1280 x 800) Brightness: at least 2000 Lumens Lamp Life: (Normal / Eco): 6,000 / 12,000 hours Contrast Ratio: 16,000:1 Analog Input Composite: 1 RCA D-Sub (VGA): 1 Digital Input: HDMI x 1 Audio Input: 2RCA (White & Red): 1 USB Interface: USB Type A: 1 (For Wireless LAN, Firmware Update, Copy OSD Settings) USB Type B: 1 (For Firmware Update, Copy OSD Settings) Wireless Projection: IEEE 802.11b (2.4GHz): 11 Mbps*2 IEEE 802.11a (5GHz): 54Mbps*2 IEEE 802.11n (5GHz): 150 Mbps*2 IEEE 802.11g (2.4GHz): 54 Mbps*2 IEEE 802.11g (2.4GHz): 54 Mbps*2	3	unit	
WRMD-INS Various 2024 (3) SSD-LFP-NSH P (6)	20	Two-way Radio Type: Two-way Radio Dual Band (VHF/UHF) Channel Spacing: 25KHz (wide band)12.5KHz (narrow band) Sensitivity: =0.25μV (wide band) =0.35μV (narrow band) Battery capacity: at least 1800 mAh Channel: 128 channels Frequency range: TX 136 – 174MHz, 400 – 520MHz RX 136 – 174MHz, 400 – 520MHz, 68-108MHz (FM Broadcast) 2 Device	9	unit	
		nt must not be a clone	nor line	itom	
		red should be indicated on the technical proposal ent must be at least 1 year warranty on parts and l			
vvairanty. an e	quipint	on parts allu I	.aboi 30	VICE	

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Statement of Compliance
Bidder must su	ıbmit S	uppliers Performance Evaluation with at least Sati	sfactory	7	
Rating (submit	during	; post qual)			

LOT 3 - ICT Peripherals and Supplies

PR	Гепр	Description							
#/Division/ Fund Source	Item No.	Description	Quanti ty	Unit	Statement of Compliance				
ICT PERIPHERALS & SUPPLIES									
LSD-ASP-PSP, PD 1435	1	CMOS Battery Type: CMOS Battery Cell Composition: Lithium CR2032	10	рс					
CPIT-PAEF Rice	2	Desktop Speaker Two satellite speakers Power Output (RMS): 2.5W+2.5W Peak Power Output: 5W + 5W Cable Length: 1.5m Connectivity: 3.5 mm input: 1 USB Cable: 1 Bluetooth at least v5.3 Controls: at least Power and volume controls on right speaker	20	рс					
SCMD-GEF6	3	Drone Batteries for DJI Phantom 4	4	pc					
SCMD-GEF6	4	Drone Propellers for JI Phantom RTK 4	2	рс					
GSITD-AFACI PAN (10) SCMD-Manil a Bay (4) SSD-LFP-NS HP (5)	5	External Storage Type: Solid State Drive (SSD) Capacity: 1 TB Interface: USB Gen 3.2 Sequential Read: Up to 1,050MB/sec Sequential Write: Up to 1,000 MB/sec Encryption: AES 256-bit hardware encryption	19	рс					
SCMD-GEF6 (10)	6	External Storage Type: Solid State Drive (SSD) Capacity: 2 TB USB 3.2 Gen 2 x2 Sequential Read: Up to 2,000MB/sec Sequential Write: Up to 2,000 MB/sec Encryption: AES 256-bit hardware encryption with USB-C to USB-C Cable with USB-C to USB-A Cable	10	рс					
WRMD-INS Various 2024 (10) NSWRRD- HillPEZ-LFP- NSHP-VEG (2)	7	External Storage Type:Hard Disk Drive (HDD) Capacity: 1 TB Interface: USB Gen 3.0 Speed: Up to 5400 RPM	28	рс					

PR #/Division/ Fund Source	Item No.	Description	Quanti ty	Unit	Statement of Compliance
CPIT-PAEF Rice (24)	8	Headphone Type: Over-ear Headphone Frequency response: at least 20Hz – 20kHz Max input power: at least 20mW Sensitivity: at least 96dB SPL @1kHz/1mW Impedance: at least 32 ohm Microphone frequency response: at least 100Hz – 10kHz Microphone pickup pattern: Directional Microphone Type: Detachable Connection: 3.55mm jack	24	pc	
LSD-ASP-PSP, PD 1435 (10) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (3)	9	HDMI Cable 5M HDMI (Male) to HDMI (Male)	13	рс	
NSWRRD-Hil IPEZ-LFP-NS HP-VEG (7)	10	Internal Storage Type: Solid State Drive (SSD) Capacity: 500 GB Interface: SATA 6 GB/S Sequential Read: Up to 560 MB/s Sequential Write: Up to 530 MB/s	7	рс	
GSITD-NSHP (15) GSITD- Regular (3) WRMD-INS Various 2024 (1)		Internal Storage Type: Solid State Drive (SSD) Capacity: 1 TB Interface: SATA 6 GB/S Sequential Read: Up to 560 MB/s Sequential Write: Up to 530 MB/s	19	рс	
WRMD-INS Various 2024	12	Internal Storage Type: Solid State Drive (SSD) Capacity: 2 TB Interface: SATA 6 GB/S Sequential Read: Up to 560 MB/s Sequential Write: Up to 530 MB/s	2	рс	
GSITD-NSHP (11)	13	Internal Storage Type: Solid State Drive (SSD) M.2 Capacity: 1 TB Form Factor: M.2 2280 Interface: PCIe Gen4 x4 Sequential Read Performance: At least 5000MB/s Sequential Write Performance: At least 4000MB/s	11	pc	

PR #/Division/ Fund Source	Item No.	Description	Quanti ty	Unit	Statement of Compliance
GSITD-NSHP (5)	14	Internal Storage Type: Solid State Drive (SSD) M.2 Capacity: 2 TB Form Factor: M.2 2280 Interface: PCIe Gen4 x4 Sequential Read Performance: At least 7000MB/s Sequential Write Performance: At least 5000MB/s	5	рс	
GSITD-AFACI PAN (2) WRMD-INS Various 2024-Rice ESETS (7) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (2) LSD- ASP-PSP, PD 1435 (3)	15	Memory Card Capacity: 128GB Type: MicroSDXC Read Speed: Up to 200 MB/s Write Speed: Up to 90MB/s	14	рс	
NSWRRD-Hil IPEZ-LFP-NS HP-VEG (2)	16	Memory Card Capacity: 32GB Type: MicroSDHC Read Speed: Up to 100 MB/s Write Speed: Up to 60MB/s	2	рс	
CPIT-PAEF Rice (7) 2024-07-121 2-LSD-NSHP (10)	17	Monitor 24" Size: at least 23.8" Resolution: 1920 x 1080 FHD Panel Type: IPS Panel Curvature: Flat Refresh Rate: 75hz Speaker: 2 x 2W Response Time: 5ms Tilt Adjustment: -5° ~ 23° Ports: HDMI 1.4 D-Sub (VGA) Mic-in Headphone-out	17	рс	
GSITD-Trust Fund-AFACI (10) WRMD-INS Various 2024-Rice ESETS(5)	18	OTG USB Flash Drive Capacity: 256GB Speed: USB 3.2 Gen.1 up to 400MB/s read Interface: USB-A Type-C	20	рс	

PR	Item	Description	Quanti		
#/Division/	No.		ty	Unit	Statement of Compliance
Fund Source	1101		-,		
GSITD-AFACI		OTG Flash Drive			
PAN (10)		OTG USB Flash Drive			
WRMD-INS		Capacity: 128GB			
Various 2024	19	Speed: USB 3.2 Gen.1 up to 300MB/s read Interface:	15	pc	
(5)		USB-A			
		Type-C			
GSITD-AFACI		OTG USB Flash Drive			
PAN (10) NSWRRD-Hil		Capacity: 64GB Speed: USB 3.1 Gen.1 up to 150MB/s read			
IPEZ-LFP-NS	20	Interface:	20	рс	
HP-VEG (10)		USB-A			
III VEG (10)		Type-C			
SCMD-GEF6		Power Bank			
(10)		Battery Capacity: at least 20000 mAh			
LSD-ASP-PSP,		Input ports:			
PD 1435		Lightning			
(20)	21	Micro-USB	40	pc	
NSWRRD-Hil		Output ports: USB Type-A (2)			
lPEZ-LFP-NS		I/O: DC 5V – 2.1A			
HP-VEG (10)					
NSWRRD-Hil		Power Cord for CPU			
lPEZ-LFP-NS	22	Length 3M	3	рс	
HP-VEG (3)					
WRMD-INS		Projector Laser Pointer			
Various 2024		Laser Class: Class 2			
(5)		Max laser output: Less than 1m W			
LSD-ASP-PSP,		Laser Color: Green			
PD 1435 (5)	23	Wireless technology: 2.4 GHz	11	pc	
NSWRRD-Hil		Operating distance: up to 30m			
lPEZ-LFP-NS HP-VEG (1)		Battery Type: 2 AAA LCD Display for Timer, Battery power and			
HP-VEG (1)		Reception level			
WRMD-INS		Processor			
Various 2024		I7-11th gen			
(3)	24	With intel UHD Graphics	3	pc	
		Compatible with H510M Pro-E			
GSITD-AFACI		Power Supply Unit			
PAN (2)		Watts: at least 1000 watts			
GSITD-NSHP	25	Rating: 80+ Gold			
(2)	25	Type: Full Modular	9	pc	
LSD-ASP-PSP,		Form Factor: ATX			
PD 1435 (5)					
GSITD-NSHP		Power Supply Unit			
		Watts: at least 650			
	26	Rating: 80+ Bronze	10	рс	
		Type: Non-Modular		ρc	
		Fan Size: 120mm			
		Form Factor: ATX			

#/Division/Fund Source GSITD-NSHP (10) Radom Access Memory (RAM) DDR4 Description Quanti ty Unit Statement of the statemen	of Compliance
GSITD-NSHP Radom Access Memory (RAM)	
[(10)	
27 16GB (16x1) 10 pc	
3600 MHz	
LoDimm	
WRMD-INS Radom Access Memory (RAM)	
Various 2024 DDR4	
(2) 28 32GB (16x2) 2 pc	
3600 MHz	
LoDimm	
CPIT-PAEF Signal Booster	
Rice (1) Frequency Range Uplink: Up to	
890~2570MHz	
Frequency Range Downlink: Up to	
935~2690MHz	
Gain: 70dB	
29 Output Power: 23dBm 1 pc	
Power Adapter: EU/US/AU/UK Plug	
Power supply: AC:110~220V; DC:12V 2A	
Connector Type: N Female	
Coverage: Up to 500 sqm without barrier	
Improve Network Type: 2G Voice and 3G	
4G Internet Data	
GSITD-AFACI Tripod PAN (1) Produced Connection S S No. (1)	
PAN (1) Payload Capacity: 8.8 lb / 4kg	
WRMD-INS 60mm flat base with a 3/8"-16 thread	
Various 2024 1-2 steps of counterbalance	
(2) Fixed pan and tilt drag LSD-ASP-PSP, Independent pan and tilt locks	
PD 1435 (2) +90/-75° tilt range	
360° pan range	
30 Made of magnesium and aluminum 5 pc	
Sliding camera plate with safety lock	
1/4"-20 and 3/8"-16 camera screws	
included	
Low-angle minimum height of 22"	
Spiked and rubber feet	
Flip leg locks	
Center Column and Leveling Adapter	
Convertible to Full-Function Monopod	
GSITD-Regul Thermal Paste	
ar Weight: 10 Grams	
31 Volume: 3.6 mL 2 pc	
Density: 2.81 g/cm3	
Thermal Conductivity: 3.9 W/mk	
LSD-ASP-PSP, USB Hub	
PD 1435 (5) Output Interface: 4 USB 3.0 Ports	
NSWRRD-Hil 32 Input Interface: USB 3.0 Type-A 10 pc	
IPEZ-LFP-NS Data transfer up to 5Gbps	
HP-VEG (5)	

PR	Item	Description	Quanti	** .	6
#/Division/	No.		ty	Unit	Statement of Compliance
Fund Source		VCA Cable			
NSWRRD-Hil lPEZ-LFP-NS		VGA Cable VGA to HDMI Full HD 1080P Converter			
HP-VEG (5)	33	Adapter Cable With Audio Output Adapter	2	рс	
1117-VEG (3)		(3.5 mm audio jack)			
SCMD-Manil		Uninterruptible Power Supply (UPS)			
a Bay (5)		Type: Uninterruptible Power Supply (UPS)			
LSD-NSHP		Input Capacity: 650w/1200 VA			
(3)		Universal Socket: 4 Sockets			
	34	Nominal Output Voltage: 230V	37	рс	
		Nominal Input Voltage: 230V			
		Battery Type: Lead-acid battery			
		Typical Charge Time: 8 hour(s)			
		-yp(e)			
SCMD-		Video/Camera Stabilizer (Basic)			
Manila Bay		Compatible Weight: at least 170-290 g			
(1)		Compatible Thickness: at least 6.9-10			
		mm			
		Compatible Width: at least 67-84 mm			
		Battery Type: Li-Po 2S			
	35	Capacity: 1000 mAh	1	рс	
		Gimbal Charging Port: USB-C		1	
		Mechanical Range			
		Pan: -161.64° to 173.79°			
		Roll: -120.30° to 211.97°			
		Tilt: -101.64° to 78.55°			
		Max Control Speed: 120°/s Wireless: Bluetooth 5.1			
2024-07-121					
2-LSD-NSHP		Video/Camera Stabilizer (Advance) DSLR Gimbal			
(3)		Tested Payload: at least 3 kg (6.6 lbs)			
(3)		Maximum Controlled Rotation Speed:			
		Pan: 360°/s			
		Tilt: 360°/s			
		Roll: 360°/s			
		Mechanical Endpoint Range:			
		Pan axis control: 360° continuous rotation			
		Roll axis control: -95° to +240°			
		Tilt axis control: -112° to +214°	_		
		Battery Type: LiPo 2S	3	pcs	
		Battery Capacity: at least 3000 mAh			
		Connections: Bluetooth 5.1 & USB-C			
		(Charging Port)			
		Accesories Connections:			
		(RSA)/NATO Ports			
		1/4"-20 Mounting Hole			
		Cold Shoe			
		Video Transmission Port (USB-C)			
		RSS Camera Control Port (USB-C)			
		Focus Motor Port (USB-C)			

PR #/Division/ Fund Source	Item No.	Description	Quanti ty	Unit	Statement of Compliance
NSWRRD-Hil IPEZ-LFP-NS HP-VEG (10)	36	Voice Recorder Battery Type: Dry Battery (AAA x 2) Built-In Memory: at least 4 GB Built-In Microphone: Stereo (S-Mic) Playback Format: MP3/WMA/AAC-LC/L-PCM Recording Format: MP3/L-PCM With Calendar Search & PC Connectivity	1	рс	
SSD-LFP-NS HP (4) ADMIN-Regu lar (3-BGA; 3-Budget) CPIT-PAEF Rice (15)	37	Webcam Max Resolution: 1080p/30 fps – 720p/ 60 fps Camera mega pixel: at least 3mp Focus type: Autofocus Built-in mic: Stereo Autofocus: Yes Lens type: Glass Connection: USB-A plug-and-play Tripod-ready universal mounting clip fits laptops, LCD or monitors Tripod included Wi-Fi Adapter	25	рс	
Rice(15)	38	Interface: USB 3.0 Signal: 5GHz (up to 867Mbps) 2.4GHz (up to 400Mbps) 2 External High Gain Antenna Features: MU-MIMO	15	рс	
SCMD-GEF6 (10) LSD-ASP-PSP, PD 1435 (10)	39	Wireless mouse and keyboard Keyboard 3 Zone-Layout Adjustable height -tilt legs Special Keys: Music Controls Palm Rest 10-Key Number pad Key type: Deep profile On/Off power switch Mouse Sensor technology: High-precision Optical tracking Number of buttons: 3 (Left/Right-click, Middle click) Scrolling: line-by-line Scroll Wheel: Yes, 2D, mechanical Connect/Power: On/Off power button	20	рс	

PR #/Division/ Fund Source	Item No.	Description	Quanti ty	Unit	Statement of Compliance
LSD-ASP-PSP, PD 1435 (10)	40	Wireless mouse Type: Wireless Connection Type: Bluetooth® Smart and 2.4GHz wireless connection Wireless range: 10 m Battery Details: 1 x AA DPI (Min/Max): 1000± Sensor resolution: 1000 dpi Scroll Wheel: 3G Core Number of buttons: 8	10	pc	
per line item		ered should be indicated on the technical pro			
		Suppliers Performance Evaluation with at leasubmit during post qual)	ast		

LOT 4 - TONER CARTRIDGE

ITEM No.	Division	PR Fund	Item	Item Description	Unit	Quant ity	Statement of Compliance
1	WRMD ADMIN- PROCUREME NT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Cyan	рс	5	
2	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Magenta	рс	5	
3	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Yellow	рс	5	
4	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Black	рс	5	
5	SSD	LFP-NSHP-SS D(1), STO-REG-SSD (1)	Toner Cartridge	HP MFP E87640 Cyan HP MFP E87640 Magenta HP MFP E87640 Yellow HP MFP E87640 Black	set	2	
6	LSD ADMIN-CASH IER	NSHP(30), Regular(2)	Toner Cartridge- Canon ImageClass (MF756Cx)	Yellow Cartridge (069)	рс	32	
7	LSD ADMIN-CASH IER	NSHP(30), Regular(2)	Toner Cartridge- Canon ImageClass (MF756Cx)		рс	32	
8	LSD ADMIN-CASH IER	NSHP(30), Regular(2)	Toner Cartridge- Canon ImageClass (MF756Cx)	Cyan Cartridge (069)	рс	32	
9	LSD ADMIN-CASH IER	NSHP(26), Regular(2)	Toner Cartridge- Canon ImageClass (MF756Cx)		рс	28	
10	GSITD	REGULAR	Imaging Drum	LaserJet Imaging Drum, HP 126A (CE314A)	рс	3	
11	GSITD	REGULAR	Toner Cartridge	Compatible w/ HP LaserJet E87650 HP W9050MC-Black	рс	1	
12	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270 -Black Toner	рс	1	
13	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270 -Cyan Toner	рс	1	
14	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270-Magenta Toner	рс	1	

ITEM No.	Division	PR Fund	Item	Item Description	Unit	Quant ity	Statement of Compliance
15	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270-Yellow Toner	рс	1	
16	SWRRDC-HIL LPEZ	LFP-NSHP-VE GETABLE-HIL LPEZ	Toner Brother	Toner Cartridge for Brother Printer (TN-1000)	рс	3	
17	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Black	рс	7	
18	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Cyan	рс	6	
19	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Yellow	рс	5	
20	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Magenta	рс	5	
25	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576 , Yellow Toner	рс	15	
26	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Magenta Toner	рс	15	
27	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Black Toner	рс	25	
28	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Cyan Toner	рс	15	
29	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Waste Toner	рс	15	
30	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Drum Cartridge	рс	15	
31	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576 Fuji Xerox Cartridge Black (CT201370)	рс	2	
32	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Fuji Xerox Cartridge Cyan (CT201371)	рс	2	
33	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576,Fuji Xerox Cartridge Magenta (CT201372)	рс	2	
34	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576,Fuji Xerox Cartridge Yellow (CT201373)	рс	1	

ITEM No.	Division	PR Fund	Item	Item Description	Unit	Quant ity	Statement of Compliance
35	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576,Fuji Xerox Waste Toner Bottle R5 CWAA 0751	pc	6	
36	ADMIN-PROC UREMENT	Regular	Imaging Drum	HP MFP E87640 Drum	рс	2	
37	ADMIN-PROP ERTY	Regular	Toner Cartridge	Black Toner - Apeosport-IV 3065	рс	8	
38	ADMIN-PROP ERTY	Regular	Toner Cartridge	Drum Cartridge- Apeosport-IV 3065	рс	4	
39	SSD	LFP-NSHP-SS D	Toner Cartridge	Compatible w/ Toshiba E-studio 2500AC Toner TFC200UC-Black TFC200UC-Cyan TFC200UM-Magenta TFC200UY-Yellow	set	1	

Note: Note: Expiration of Inks/Cartridges/Toners must be atleast 18-24 months upon delivery

LOT 5 - INK CARTRIDGE

			IN	K CARTRIDGE			
				Item		Quanti	
	Division	PR Fund	Item	Description	Unit	ty	Statement of Compliance
1	SWRRD	LFP-NSHP(3),	Ink Cartridge	HP 680-Black	рс	66	
	ADMIN-P	SWRRD-LFP-NSHP-					
	ROCURE	PHILREC SOIL (1)					
	MENT	RD-OAP-SES(2),					
		Regular(60)					
2	SWRRD	LFP-NSHP(3),	Ink Cartridge	HP 680-Color	рс	65	
	ADMIN-P	SWRRD-LFP-NSHP-					
	ROCURE	PHILREC SOIL (1)					
	MENT	RD-OAP-SES(1),					
		Regular(60)					
3	LSD	NSHP(11),	Ink Cartridge	Epson T9481	рс	16	
	ADMIN-IN	Regular(5)		Orginal Black			
	FO			Ink Pack			
4	LSD	NSHP(11),	Ink Cartridge	Epson T9482	рс	16	
	ADMIN-IN	Regular(5)		Orginal Cyan			
	FO			Ink Pack			
5	LSD	NSHP(11),	Ink Cartridge	Epson T9483	рс	16	
	ADMIN-IN	Regular(5)		Orginal			
	FO			Magenta Ink			
				Pack			
6	LSD	NSHP(11),	Ink Cartridge	Epson T9484	рс	16	
	ADMIN-IN	Regular(5)		Orginal Yellow			
	FO			Ink Pack			
7	ADMIN-B	BUDGET-Regular(2	Ink Cartridge	Compatible	рс	19	
	UDGET),		with			
	ADMIN-C	CASHIER-Regular(8		WF-C5790,T9			
	ASHIER),		48 Yellow			
	ADMIN-A	ACCOUNTING-Reg					
	CCOUNTI	ular(8)					
	NG	RD-REG-HIGHPEZ(
	SWRRDC-	1)					
	HIGHPEZ						
8	ADMIN-B	BUDGET-Regular	Ink Cartridge	Compatible	рс	19	
	UDGET	(2),		with			
	ADMIN-C	CASHIER-Regular		WF-C5790,T9			
	ASHIER	(8),		48 Magenta			
	ADMIN-A	ACCOUNTING-					
	CCOUNTI	Regular(8)					
	NG	RD-REG-HIGHPEZ					
	SWRRDC-	(1)					
	HIGHPEZ						
9	ADMIN-B	BUDGET-Regular(2	Ink Cartridge	Compatible	рс	19	
	UDGET),		with			
	ADMIN-C	CASHIER-Regular(8		WF-C5790,T9			
	ASHIER),		48 Cyan			
	ADMIN-A	ACCOUNTING-Reg					
	CCOUNTI	ular(8)					

INK CARTRIDGE

	INK CARTRIDGE										
				Item		Quanti					
	Division	PR Fund	Item	Description	Unit	ty	Statement of Compliance				
	NG	RD-REG-HIGHPEZ(
	SWRRDC-	1)									
	HIGHPEZ										
10	ADMIN-B	BUDGET-Regular(2	Ink Cartridge	Compatible	рс	28					
	UDGET),		with							
	ADMIN-C	CASHIER-Regular(7		WF-C5790,T9							
	ASHIER),		48 Black							
	ADMIN-A	ACCOUNTING-Reg									
	CCOUNTI	ular(18)									
	NG	RD-REG-HIGHPEZ(
	SWRRDC-	1)									
	HIGHPEZ										
11	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1					
				300-ml							
				Magenta							
				DesignJet							
				Original Ink							
				Cartridge							
12	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1					
				300-ml Yellow							
				DesignJet							
				Original Ink							
				Cartridge							
13	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1					
				300-ml Cyan							
				DesignJet							
				Original Ink							
				Cartridge,							
				P2V68A							
14	GSITD	REGULAR	Ink Cartridge	HP 730	рс	2					
				300-ml Photo							
				Black							
				DesignJet							
				Original Ink							
				Cartridge,							
				P2V72A							
15	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1					
				300-ml Gray							
				DesignJet							
				Original Ink							
1				Cartridge							
				P2V72A							
16	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1					
				300-ml Matte		_					
				Black							
				DesignJet							
17	GSITD	REGULAR	Ink Cartridge	HP 416A	рс	2					
'			Cartriage	(W2040A),		_					
				Black							
		1	l	15.00.0							

INK CARTRIDGE

			Quanti				
				Item		Quanti	
	Division	PR Fund	Item	Description	Unit	ty	Statement of Compliance
18	GSITD	REGULAR	Ink Cartridge	HP 416A	рс	2	
				(W2043A),			
				Magenta			
19	GSITD	REGULAR	Ink Cartridge	HP 416A	рс	2	
				(W2042A),			
				Yellow			
20	GSITD	REGULAR	Ink Cartridge	HP 416A	рс	2	
				(W2041A),			
				Cyan			
21	GSITD	REGULAR	Ink Cartridge	HP Black 63	рс	2	
22	GSITD	REGULAR	Ink Cartridge	HP Tri-Color	рс	2	
				63			
23	SCMD	Manila Bay	Ink Cartridge	Genuine Ink	рс	27	
				Cartridge HP			
				682, Tri-Color			
24	SCMD	Manila Bay	Ink Cartridge	Genuine Ink	рс	27	
		'		Cartridge HP	'		
				682, black			
25	SWRRD	LFP-NSHP	Ink Cartridge	Canon	рс	8	
			I a careriage	745-Black	٦		
26	SWRRD	RD-OAP-SES	Ink Cartridge	Canon Pixma	рс	1	
20	SVVIIID	IND OAT SES	link cartriage	47 (Black)	PC	_	
27	SWRRD	RD-OAP-SES	Ink Cartridge	Canon Pixma	рс	1	
2/	SWIND	RD-OAF-3L3	link Cartriage	57 (Color)	μc	1	
20	CMADDD	DD ICO CIVIDAD	Ind. Combaides			1	
28	SWRRD	RD-ISO-SWRRD	Ink Cartridge	HP 704 Black Ink	рс	1	
20	CMADDD	DD ICO CIVIDAD	Ind. Contrides			1	
29	SWRRD	RD-ISO-SWRRD	Ink Cartridge	HP 704 Tri	рс	1	
				Color Ink		40	
30	LSD	Regular	Ink Cartridge	Compatible	рс	13	
				with Epson			
				L120,			
				Ink-Black			
31	LSD	Regular	Ink Cartridge	Compatible	рс	10	
				with Epson			
				L120,			
				Ink-Colored			
32	ADMIN-B	Regular	Ink Cartridge-HP	Compatible	set	1	
	UDGET		Laser Jet	w/ HP			
				LaserJet			
				E87650,			
				Yellow			
				W9052MC,			
				Magenta			
				W9053MC,			
				Cyan			
				W9051MC,			
				Black			
				W9050MC			
33	ADMIN-C	Regular	Ink Cartridge	Laserjet	рс	4	
L	I			· · · · · · · · · · · · · · · · · · ·	1	ı	

				Item		Quanti	
Di	ivision	PR Fund	Item	Description	Unit	ty	Statement of Compliance
AS	SHIER			Cartridge 17A			
				Black			
Note:Exp	piration o	of Inks/Cartridg	on				
delivery	,						

LOT 6 - INK TANK

	Division	PR Fund	Item	Item Description	Unit	Quan tity	Statement of Compliance
1	IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER ADMIN-AC COUNTING	ADMIN-BGA)(4), LFP-NSHP(SWRR D)(3) RD-REG-HIGHPE	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BT5000M, Magenta	bottl e	35	
2	IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER ADMIN-AC COUNTING	Z(9) REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (3) ADMIN-ACCOUN TING(4), ADMIN-RECORD S(4), ADMIN-BGA)(4), LFP-NSHP(SWRR D)(2) RD-REG-HIGHPE Z(9)	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BT5000C, Cyan	bottl e	34	
3	IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER ADMIN-AC COUNTING	REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (3) ADMIN-ACCOUN TING(4), ADMIN-RECORD	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BT5000Y, Yellow	bottl e	35	
4	IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER	REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (4) ADMIN-ACCOUN TING(8), ADMIN-RECORD	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BTD60BK, Black	bottl e	51	

	Division	PR Fund	Item	Item Description	Unit	Quan	Statement of Compliance
	A	LFP-NSHP(SWRR D)(3) RD-REG-HIGHPE Z(17)				tity	
5	SWRRDC-H ILLPEZ	LFP-NSHP-VEGET ABLE-HILLPEZ	Ink for Brother Printer for A3 size	Brother Eco Tank Brother HL-T4000DW (Printer) BTD60BK, Black, BT5000Y, Yellow, BT5000C, Cyan, BT5000M, Magenta	set	4	
6	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O	g of SLRMA(DA BAR Trust)(30), SWRRD-LFP-NSH	Ink Tank	Epson 003-Cyan	bottl e	54	
7	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O	SCMD-Outscalin g of SLRMA(DA BAR Trust)(30), SWRRD-LFP-NSH	Ink Tank	Epson 003-Magenta	bottl e	53	
8	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O	SCMD-Outscalin g of SLRMA(DA BAR Trust)(30), SWRRD-LFP-NSH	Ink Tank	Epson 003-Yellow	bottl e	53	

	Division	PR Fund	Item	Item Description	Unit	Quan	Statement of Compliance
9	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O WRMD	SCMD-Outscalin g of SLRMA(DA BAR Trust)(10), SWRRD-LFP-NSH		Epson 003-Black	bottle	tity 80	Statement of Compliance
10	WRMD		Ink Tank	Epson 003-(Black, Cyan, Magenta, Yellow)	set	10	
11	WRMD	Rice ESETS 2024	Ink Tank	Epson 003-(Black, Cyan, Magenta, Yellow)	set	5	
12	SWRRD WRMD ADMIN-BU DGET	SWRRD-LFP-NSH P(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) SWRRD-RD-OAP-SES(7), WRMD-INS Various 2024(20), WRMD-Rice ESETS 2024(8), ADMIN-BUDGET-Regular(12)		GT53-Black	bottI e	51	
13	DGET	SWRRD-LFP-NSH P(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) SWRRD-OAP-SES (3), ADMIN-BUDGET- Regular(6)			bottl e	13	
14	DGET	LFP-NSHP(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) RD-OAP-SES(3), Regular(6)		GT52-Cyan	bottl e	13	
15	SWRRD	LFP-NSHP(3) SWRRD-LFP-NSH P-PHILREC SOIL (1)	Ink Tank	GT52-Yellow	bottl e	4	

	Division	PR Fund	Item	Item Description	Unit	Quan tity	Statement of Compliance
16	WRMD	Rice ESETS 2024	Ink Tank	GT53 (Black, Cyan, Magenta, Yellow)	set	5	
17	SWRRD WRMD ADMIN-INF O SWRRDC-H IGHPEZ	SWRRD-RD-ISO- SWRRD(5), WRMD-INS Various 2024(26), ADMIN-INFO-Re gular(9) RD-REG-HIGHPE Z(4) SWRRD-LFP-NSH P-PHILREC SOIL (1)	Ink Tank	Epson 664-Black	bottl e	45	
18	SWRRD WRMD ADMIN-INF O SWRRDC-H IGHPEZ	SWRRD-RD-ISO- SWRRD(2), WRMD-INS Various 2024(20), ADMIN-INFO-Re gular(7) RD-REG-HIGHPE Z(1) SWRRD-LFP-NSH P-PHILREC SOIL (1)	Ink Tank	Epson 664-Magenta	bottl e	31	
19	SWRRD WRMD ADMIN-INF O SWRRDC-H IGHPEZ	SWRRD-RD-ISO- SWRRD(2), WRMD-INS Various	Ink Tank	Epson 664-Cyan	bottl e	31	
20	WRMD ADMIN-INF O SWRRDC-H IGHPEZ	WRMD-INS	Ink Tank	Epson 664-Yellow	bottl e	29	
21	GSITD	REGULAR	Pigment Ink	GI-790-Black, 135ml	bottl e	6	
22	GSITD	REGULAR		GI-790-Cyan, 70ml	bottl e	6	
23	GSITD	REGULAR		GI-790-Magenta, 135ml	bottl e	6	
24	GSITD	REGULAR	Pigment Ink	GI-790-Yellow, 135ml	bottl e	6	

	Division	PR Fund	Item	Item Description	Unit	Quan tity	Statement of Compliance
25	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Black, 127ml EPSON	bottl e	4	
26	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Cyan, 70ml EPSON	bottl e	5	
27	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Magenta, 70ml EPSON	bottl e	5	
28	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Yellow, 70ml	bottl e	5	
29	ADMIN-BU DGET	Regular	Ink Tank-Eps on L3150	Compatible with Epson L3150, Yellow	рс	5	
30	ADMIN-BU DGET	Regular	Ink Tank-Eps on L3150	Compatible with Epson L3150, Magenta	рс	5	
31	ADMIN-BU DGET	Regular	Ink Tank-Eps on L3150	Compatible with Epson L3150, Cyan	рс	5	
32	ADMIN-BU DGET	Regular	Ink	Compatible with Epson L3150, Black	рс	5	
33	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T300 Black	рс	4	
34	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T500 Magenta	рс	4	
35	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T700W Yellow	рс	4	
36	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T800W Cyan	рс	4	
37	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson 001-Black	bottl e	1	
38	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson 001-Cyan	bottl e	1	
39	SWRRD		Ink Tank	Epson 001-Yellow	bottl e	1	
40	SWRRD	· · · · · · · · · · · · · · · · · · ·	Ink Tank	Epson 001-Magenta	bottl e	1	
41	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson T7741	bottl e	1	

LOT 1 - PERSONAL COMPUTERS

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
LSD-NSHP	1	Desktop Computer (Office Document	8	unit	70,000.00	560,000.00
(8)		Advance)				
		Processor: Core: at least 6; Threads: at least				
		12;				
		Cache: at least 32; Max/Boost Frequency				
		(GHz): at least 5.1				
		GPU: at least 6GB VRAM, GDDR6				
		GPU Output: at least DisplayPort 1.4a x 2 & HDMI 2.1a x 2				
		RAM: 8GB DDR4 3200MHz, upgradable up				
		to 16gb				
		Form Factor: Form Factor: Mid Tower				
		(atleast H:14.5in by W:6in)				
		Motherboard: at least 2 x M.2 Slot, 4 x RAM				
		Slot: Interface: 1xHDMI, 1xVGA				
		Internal Storage: 500 GB m.2 NVMe Gen 4				
		Internal Storage: 1TB HDD				
		Power Supply: Rating at least 500 watts				
		80+ Bronze				
		Display: at least 27-inch Monitor				
		Display Refresh Rate: at least 75hz				
		Display Panel Type: IPS				
		Display Response Time: up to 5 ms				
		Combo Wireless Keyboard & Mouse: 2.4Ghz				
		wireless connection; Wireless Range: at				
		least 30ft; keyboard Type: Full size; 3-zone				
		layout; Mouse: at least 3 buttons				
		Operating System: Should be licensed and				
		latest professional edition, 64-bit				
		Productivity Suites: Should be licensed,				
		latest and compatible with the existing				
		productivity suites (MS Office)"				

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
ALMED-LFP-NSHP (3) SCMD-SLRM A (1) CPIT-PAEF Rice & FPMA HVCDP(20) WRMD-INS Various Continuing(2) WRMD-Rice ESETS Continuing (3)	2	Desktop Computer (Office Document BASIC) Processor: Core: at least 12; Threads: at least 20; Cache: at least 25; Max/Boost Frequency (GHz): at least 4.9 GPU: on-board/shared RAM: 8GB DDR4 3200MHz, upgradable up to 16gb Form Factor: Form Factor: Mid Tower (atleast H:14.5in by W:6in) Motherboard: at least 1 x M.2 Slot, 2 x RAM Slot: Interface: 1xHDMI, 1xVGA Internal Storage: 256 GB m.2 NVMe Gen 4 Internal Storage: 1TB HDD Power Supply: Rating at least 500 watts 80+ Bronze Display: at least 24-inch Monitor Display Panel Type: IPS Display Response Time: up to 5 ms Combo Wireless Keyboard & Mouse: 2.4Ghz wireless connection; Wireless Range: at least 30ft; keyboard Type: Full size; 3-zone layout; Mouse: at least 3 buttons Operating System: Should be licensed (Perpetual) and latest professional edition, 64-bit Productivity Suites: Should be licensed (Perpetual), latest and compatible with the existing productivity suites (MS Office - at	29	unit	49,900.00	1,447,100.00
ALMED-LFP- NSHP (5) WRMD-INS Various 2024-Rice ESETS (4) Manila Bay (1) SCMD-SLRM A (1) SWRRD-Hill PEZ-Continu ing Fund (3) NSWRRD-Hil IPEZ-RD-VE RMI (1) NSWRRD-LU PEZ-RD-Lysi meter-Curre nt(1) WRMD-Rice	3	least Word, Excel, Powerpoint, etc) Laptop Computer (Office Document BASIC) Processor: Core: at least 8; Threads: at least 16; Cache: at least 16MB; Max Turbo Frequency (GHz): at least 4.6 Storage: at least 512GB M.2 NVMe SSD Memory: at least 16GB, DDR4/single 16GB or dual 8GB Camera: at least 720p Screen size: at least 15.6-inch Display Type: FHD Battery Type: at least 53 WH; at least 3 cell battery Battey Charger: Must be same brand with the offered unit Operating System: Should be licensed and latest professional edition, 64-bit Productivity Suites: Should be licensed and compatible with the existing productivity suites (MS Office)	28	unit	49,900.00	1,397,200.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
ESETS						
Continuing (12)						
SCMD-GEF6	4	Laptop (Office Document Advance)	4	unit	70,000.00	280,000.00
(4)	*	Processor: Core: at least 10; Threads: at least 12; Cache: at least 12MB; Max Turbo Frequency (GHz): at least 5.0 Storage: at least 512GB SSD M.2 2242 PCIe 4.0x4 NVMe Memory: at least 16GB, DDR4 3200MHz (upgradable) Camera: at least 720p Screen size: at least 75.6 inch Display Type: IPS Battery Type: at least 50WH; at least 3 cell battery Battey Charger: Must be same brand with the offered unit Operating System: Should be licensed and latest professional edition, 64-bit Productivity Suites: Should be licensed, latest and compatible with the existing productivity suites (MS Office)	4		70,000.00	280,000.00
GSITD-ICT-S TO Current (3) LSD-NSHP (8)	5	Laptop (Executive) Processor: Core: at least 16; Threads: at least 22; Cache: at least 24MB; Max Turbo Frequency (GHz): at least 5.1 Storage: at least 1TB NVMe Gen4 Memory: at least 16GB DDR5 GPU: at least 6GB dedicated Camera: at least 720p FHD Screen size: at least 14.5 inch Display Type: IPS, at least 90Hz Battery Type: at least 73WH Battery Charger: Must be same brand with the offered unit Weight: up to 1.49kg/3.28lbs Operating System: Should be licensed and latest professional edition, 64-bit Productivity Suites: Should be licensed, latest and compatible with the existing productivity suites (MS Office)	11	unit	100,000.00	1,100,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
SCMD-GEF6	6	Laptop (Mapping/CAD/System Dev't -	2	unit	120,000.00	240,000.00
(1)		Advance)				
		Processor: Core: at least 24; Threads: at				
		least 32; Cache: at least 36MB; Max Turbo				
		Frequency (GHz): at least 5.8				
		Storage: at least 1TB NVMe Gen4				
		Memory: at least 16GB, DDR5/single				
		16GB or dual 8GB (upgradable using two				
		soDIMM modules) GPU: at least 8GB dedicated				
		Camera: at least 720p				
		Screen size: at least 15.6 inch				
		Display Type: IPS, at least 165Hz				
		Battery Type: at least 90WH; at least 4 cell				
		battery				
		Battey Charger: Must be same brand with				
		the offered unit				
		Operating System: Should be licensed and				
		latest professional edition, 64-bit				
		Productivity Suites: Should be licensed,				
		latest and compatible with the existing				
		productivity suites (MS Office)				
Accessories fo	r laptop- I	aptop Sleeve or laptop Bag/Backpack with				
laptop compa	rtment					
Unit and its co	mponent	must not be a clone				
		should be indicated on the technical				
proposal per l						
1	Warranty: all equipment must be at least 1 year warranty on parts and labor service					
		pliers Performance Evaluation with at least				
Satisfactory R	ating (sub	mit during post qual)				
Delivery Date	- within 60) days				
						5,024,300.00

LOT 2 - OTHER ICT EQUIPMENT

PR	Item	T EQUIPMENT Description	Quant	IIn:t	Unit Cost	Total
#/Division/ Fund Source	No.	Description	ity	UIIIL	Ullit Cost	Iotai
2024-07-12 12-LSD- NSHP	1	Barcode Printer Print Technology: Direct Thermal Print labels up to 36mm in width Maximum print height: 32mm print resolution: 360dpi Minimum label length: 4mm Maximum label length: 1m Connectivity: USB: Windows® (USB1.1, 2.0, 3.0 protocol) Wired Network: 10 Base-T/100 Base-TX Serial: RS-232C (For printing with ESC/P commands only. Requires an optional serial adapter.) Wireless Direct: IEEE 802.11n Ad-Hoc mode: IEEE802.11b Infrastructure mode: IEEE802.11b/g/n WPS 2.0 Bluetooth 2.1 Barcode Supported: 1D: CODE39, CODE128, ITF 2/5, EAN13, EAN8, UPC-A, UPC-E, CODABAR, GS1-128 (UCC/EAN128) QR Code Supported: 2D: QR Code, PDF417, Data Matrix, Aztec Code, RSS-14 (Standard, Truncated, Stacked, StackedOmni), RSS-Limited, RSS Expanded (Standard, Stacked) Features: Built in Automatic label cutter	20	unit	35,000.00	700,000.00
	2	Barcode/QR Scanner Form Factor: Handheld Connectivity: Wireless / Cable Connection: 2.4 GHz mini Wireless USB Dongle / 2.0 USB Cable Scanner Capability: 1D Barcodes: Codabar, Code 11, Code93, MSI, Code 128, UCC/EAN-128, Code 39, EAN-8, EAN-13, UPC-A, ISBN, Industrial 25, Interleaved 25, Standard 25, Matrix, + more. 2D Barcodes: QR, DataMatrix, PDF417, Aztec, Hanxin, Micro PDF417, + more. Scan Pattern: Linear + QR Codes Scanner Type: CMOS Battery Capacity: 2000mAh	20	unit	5,500.00	110,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
GSITD-ICT-ST O Current	3	Camera (Advance) Type: Digital single-lens mirrorless (Interchangeable Lens Camera) Image Sensor: APS-C CMOS sensor Image Processor: DIGIC X Effective Pixels: 24.2MP Focus Type: Dual Pixel CMOS AF II AF Mode: One Shot Servo AF Auto Switch (only in A+ mode) Built-in Flash GN (ISO 100, meters): 6 Video Quality: 4K30 Video, 4K60 with Crop; HDR-PQ Brightness Adjustment: Manual: Adjustable to one of seven levels Colour Tone Adjustment: 4 settings Viewfinder: 0.39 inch OLED colour EVF LCD Type: 7.5 cm (2.95") TFT colour LCD monitor Interface: USB 2.0 to USB Type-C Wireless Lan (2.4GHz) Bluetooth 4.2 HDMI Micro out (Type D, HDMI-CEC not supported) External Microphone In (3.5mm Stereo mini jack) Storage Type: SD/SDHC/SDXC and UHS-II With 18-150mm f/3.5-6.3 IS STM Lens, Camera Strap, Battery Pack, Battery Charger	1	unit	100,000.0	100,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
SSD-LFP-NSH P (2) NSWRRD- HighPEZ-RD- LTR (1) CPIT-PAEF Rice(3) SCMD-SLRM A (1) WRMD-INS Various Continuing (1)	4	Camera (Basic) Type: Digital single-lens mirrorless (Interchangeable Lens Camera) Image Sensor: 24.1 megapixels; APS-C CMOS Processor Type: DIGIC 8 Autofocus: 143 Focus points Autofocus Modes: One-Shot AF, Servo AF / Movie Servo AF Image Resolution: up to 6000x4000 Video Shooting: 4K at 23.98 fps 1920 x 1080 at 59.94 fps [60 Mb/s] 1920 x 1080 at 23.98/29.97 fps [30 Mb/s] Memory Card Slot: Single Slot - SD/SDHC/SDXC Wireless: 2.4 GHz Wi-Fi (802.11b/g), Bluetooth 4.2 Display Type: Fixed Non-Touchscreen LCD Battery Type: 1x LP-E17 Rechargeable Lithium-Ion Display Size: 3" Peripheral Connections: USB Type-C (Hi-Speed USB (USB 2.0) equivalent External microphone IN Terminal HDMI micro (Type D) Remote control Terminal(E3) Accessory shoe	8	unit	48,000.00	384,000.00
LSD-NSHP(2 0) SWRRD-LUP EZ-RD-Soil Tank (1)	5	Communication Device CPU: at least Octa-Core Display Type: Super AMOLED Screen Size: at least 6.6 inches Screen Resolution: at least 1080 x 2340 pixels Screen Brightness: at least 1000 nits Operating System: at least Android 14 Chipset:Exynos 1480 RAM: at least 8GB Storage: at least 256GB Battery: at least Li-Ion 5000 mAh Camera: at least 50MP Front Camera at least 32MP Rear Camera Positioning: GPS, GALILEO, GLONASS, BDS, QZSS Bluetooth Version: 5.3	21	unit	30,000.00	630,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
SWRRD-LUP EZ-RD-Conti nuing	6	Document Scanner (Portable) Technology: Dual CIS Resolution: up to 1200 x 1200 dpi Scanning Width: up to 215.9 mm Scanning Length: up to 1,828 mm Power Source: USB Type-B Battery: Lithium 1200 mAh Interface: USB 3.0 Micro SD: 2GB – 32GB Wireless LAN: IEEE 802.11b/g/n, IEEE 802.11g (Wi-Fi Direct) Features: Duplex scanning ID Card scanning (up to 1 mm) LED display	1	unit	16,500.00	16,500.00
ADMIN-Regu lar (2 Records) CPIT-PAEF Rice(1)	7	Document Scanner (Advance) Type: Sheetfed Scanner Sensor Type: Colour Contact Image Sensor Resolution: up to 600 DPI x 600 DPI ADF Paper Capacity: up to 50 Sheets Duplex Scan: Yes Document Sizes: Paper size Minimum: 50.8 x 50.8 mm Paper size Maximum: 215.9 x 6096 mm Interface: USB 3.2 Gen 1 USB 3.2 Gen 1, Wi-Fi (802.11 b/g/n)	3	unit	35,000.00	105,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
SCMD- Manila Bay (1) SCMD-GEF6(2) SCMD-SLRM A (1) 2024-07-121 2-LSD-NSHP (1)	8	Handheld Action Camera Camera type: Handheld/Action Camera Microphones: 3 Screen Size: 2.0 inches Resolution: 314×556 Brightness: 700 nits Controllable Range: Pan: -235° to 58°; Tilt: -120° to 70° Roll: -45° to 45° Mechanical Range: Pan: -240° to 63°; Tilt: -180° to 98° Roll: -220° to 63° Max Controllable Speed: 180.0°/s Sensor: 1-inch CMOS Aperture: f/2.0 ISO Range: Photo: 50-6400 Video: 50-6400 Low-Light Video: 50-16000 Slow Motion: 50-6400 Max Image Size: 16:9, 3840×2160 1:1, 3072×3072 Max Video Resolution: 4k Max Video Bitrate: 130 Mbps Battery Type: LiPo Battery Capacity: 1300 mAh Wireless Connection: Bluetooth 5.2 & Wi-Fi	5	unit	36,000.00	180,000.00
GSITD-ICT- STO Current	9	ID Printer Print Technology: Colour dye sublimation, Monochrome thermal printing and Rewritable technology Feed System: Manual/Automatic Card Capacities: Card input: at least 100 Card output: at least 70 Connectivity: USB 2.0 Type A Ethernet Interface (100-Base TX/ 10-Base-Tc) Card Thickness: 0.50mm to 1.27mm (20mil to 50mil) Features: Dual Sided Printing Edge to edge print Digital shredding	1	unit	150,000.0 0	150,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
GSITD-ICT-ST O Current	10	Multi-Media Display Smart TV Screen Size: at least 70 inch TV Resolution: at least 4K Panel Type: LED Refresh Rate: 60Hz Operating System: WebOS Wireless: Wi-Fi 802.11ac, Bluetooth 5.1 Audio Output: at least 20W I/O Ports: HDMI x 3 USB 2.0 x 2 Ethernet LAN x 1 Digital Audio Out(Optical) x 1 RF (Antenna/Cable) x 2 With TV Cart Stand	1	unit	92,000.00	92,000.00
LSD-NSHP (3)	11	Multi-Media Display Type: Smart TV Screen Size: at least 50 inch TV Resolution: at least 4K Panel Type: QLED Refresh Rate: 60Hz Operating System: Tizen SmartTV Wireless: Wi-Fi 802.11ac, Bluetooth 5.2 Audio Output: at least 20W I/O Ports: HDMI x 3 USB 2.0 x 2 Ethernet LAN x 1 Digital Audio Out(Optical) x 1 RF In (Terrestrial / Cable input) x 1	3	unit	60,000.00	180,000.00
CPIT-PAEF FPMA HVCDP (2)	12	Multi-Media Display Type: Smart TV Screen Size: at least 50 inch TV Resolution: at least 4K Panel Type: LED Refresh Rate: 60Hz Bluetooth: 5.2 Speaker: at least 20w Wi-Fi 5: 2.4G & 5G 3-Side Bezel-less I/O Ports: HDMI 2.1 x 3 USB-A x 1 Ethernet Lan x 1 Digital Audio out (optical) RF in (Terrestrial/Cable input) Anynet+ (HDMI-CEC)	2	unit	35,000.00	70,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
GSITD-AFACI PAN (10)	13	Multi-Purpose Geotagging Device Chipset: Qualcomm SM8550-AC Snapdragon 8 Gen 2 Operating System: at least android 13 Screen Size: at least 6.8 inches Screen Resolution: at least 1440 x 3088 pixels Screen Brightness: at least 1750 nits Display Type: Dynamic AMOLED 2X, 120Hz RAM: at least 8GB Storage: at least 128GB Battery: at least 5000 mAh Network Technology: GSM / CDMA / HSPA / EVDO / LTE / 5G Camera: at least 12MP Front Camera at least 200MP Rear Camera	10	unit	49,900.00	499,000.00
SCMD- Manila Bay (1) SCMD-GEF6 (5) SCMD-SLRM A (2) SSD-LFP-NSH P (3)	14	Multi-Purpose Geotagging Device CPU: at least Octa-Core Display Type: TFT LCD Screen Size: at least 12.4 inches Screen Resolution: at least 1600 x 2560 pixels Screen Brightness: at least 522 nits Operating System: at least Android 11 Chipset: Qualcomm SM7225 Snapdragon 750G 5G (8 nm) - 5G RAM: at least 6GB Storage: at least 128GB Battery: at least LiPo 10090 mAh Sim Type: Nano Camera: at least 5MP Front Camera at least 8MP Rear Camera Positioning: GPS, GLONASS, BDS, GALILEO with Precision pen and keyboard pack	11	unit	49,000.00	539,000.00
LSD-NSHP(1 6) CPIT-PAEF Rice(16)	15	Network Printer (Basic) Printer Type: Inktank Printer Function: Print, Scan, Copy & Fax (With ADF and Flatbed) Maximum Resolution: 4800 x 1200 dpi Paper Sizes: A4, Letter, Legal and A3 Number of Paper Trays: 2 Automatic 2-Sided Printing (up to A4/Letter) Interface: USB 2.0 Network: Wireless, Mopria, AirPrint, Direct Wireless, Ethernet	32	unit	33,000.00	1,056,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
GSITD-ICT- STO Current	16	Printer Type: Inktank Printer Function: Print, Scan, Copy & Fax (With ADF and Flatbed) Maximum Copy Size: A3 Copy Resolution: At least 600 x 600 dpi Scanning Resolution: At least 1200 x 2400 dpi Scanner Sensor Type: CIS Maximum Printing Resolution: At least 4800 x 1200 dpi Paper Sizes: A3, Super B (13 x 19"), Indian Legal, Letter, A4, 16K (195 x 270mm), 8K (270 x 390mm), Executive (7.25 x 10.5"), B4, B5, A5, B6, A6, 8.5 x 13", 5 x 7", 4 x 6", 8 x 10", Legal (8.5 x 14"), 16:9 wide, Envelopes: #10, DL, C6, C4 Number of Paper Trays: 3 (2 Front, 1 Rear) Automatic 2-Sided Printing (up to A3) Printing Speed: Draft, A4 (Black / Colour): Up to 32.0 ppm / 32.0 ppm *2 ISO 24734, A4 Simplex (Black / Colour): Up to 25.0 ipm / 25.0 ipm *2 ISO 24734, A3 Simplex (Black / Colour): Up to 21.0 ipm / 21.0 ipm *2 ISO 24734, A3 Duplex (Black / Colour): Up to 13.5 ipm / 13.5 ipm *2 ISO 24734, A3 Duplex (Black / Colour): Up to 10.0 ipm / 10.0 ipm *2 LCD Screen: at least 4.3" Colour LCD Touch Screen Interface: USB 2.0 Network: Ethernet, Wi-Fi (IEEE 802.11b/g/n), Wi-Fi Direct LCD Screen: 4.3" Colour LCD Touch Screen	1	unit	75,000.00	75,000.00
WRMD-RICE PSS (6) ADMIN- Regular (2 Personnel & Planning) WRMD-INS Various Continuing (1) WRMD-Rice ESETS Continuing (3)	17	Printer (Portable) Print Method: Micro Piezo Print Type: InkJet Printer Function: Print Maximum Resolution: At least 5760 x 1440 dpi Paper Sizes: Legal, Letter, A4, B5, A5, A6, 8x10", 5x7", 4x6", Envelopes: #10, DL, C6 Number of Paper Trays: 1 Interface: USB 2.0 Network: Wi-Fi (IEEE 802.11b/g/n), Wi-Fi Direct Built-in Battery	12	unit	20,000.00	240,000.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total
NSWRRD- HighPEZ-RD- LTR (2) ADMIN-PMU -Regular Fund (2)	18	Printer (Desktop) Printer Type: Inktank Printer Function: Print, Scan, Copy & Fax (With ADF and Flatbed) Maximum Printing Resolution: 4800 x 1200 dpi Number of Paper Trays: 1 Interface: USB 2.0 Network: Wireless, Mopria, AirPrint, Direct Wireless Borderless Printing (A4 / Letter / 4 x 6" / 5 x 7" / 8 x 10" / Square (5 x 5") / Business Card)	4	unit	17,000.00	68,000.00
SSD-LFP-NSH P (2) NSWRRD- HighPEZ-RD- LTR (1)	19	Projector Light Source Type: LCD Native Resolution: WXGA (1280 x 800) Brightness: at least 2000 Lumens Lamp Life: (Normal / Eco): 6,000 / 12,000 hours Contrast Ratio: 16,000:1 Analog Input Composite: 1 RCA D-Sub (VGA): 1 Digital Input: HDMI x 1 Audio Input: 2RCA (White & Red): 1 USB Interface: USB Type A: 1 (For Wireless LAN, Firmware Update, Copy OSD Settings) USB Type B: 1 (For Firmware Update, Copy OSD Settings) Wireless Projection: IEEE 802.11b (2.4GHz): 11 Mbps*2 IEEE 802.11a (5GHz): 54Mbps*2 IEEE 802.11n (5GHz): 150 Mbps*2 IEEE 802.11g (2.4GHz): 150 Mbps*2 IEEE 802.11g (2.4GHz): 54 Mbps*2	3	unit	43,200.00	129,600.00
WRMD-INS Various 2024 (3) SSD-LFP-NSH P (6)	20	Two-way Radio Type: Two-way Radio Dual Band (VHF/UHF) Channel Spacing: 25KHz (wide band)12.5KHz (narrow band) Sensitivity: =0.25μV (wide band) =0.35μV (narrow band) Battery capacity: at least 1800 mAh Channel: 128 channels Frequency range: TX 136 – 174MHz, 400 – 520MHz RX 136 – 174MHz, 400 – 520MHz, 68-108MHz (FM Broadcast) 2 Device	9	unit	2,400.00	21,600.00

PR #/Division/ Fund Source	Item No.	Description	Quant ity	Unit	Unit Cost	Total	
Warranty: all equipment must be at least 1 year warranty on parts and labor service							
Bidder must sı	ubmit S	uppliers Performance Evaluation with at least Sati	isfactory	Ratin	g (submit		
during post qu							
						5,345,700.00	

LOT 3 - ICT Peripherals and Supplies

PR		Dherals and Supplies Description	0			
#/Division/	Item No.		Quantit y	Unit	Unit Cost	Total
Fund Source		ICT PERIPHERALS & SUPPLIES				
		CMOS Battery				
LSD-ASP-PSP,	1	Type: CMOS	10	рс	50.00	500.00
PD 1435	1	Battery Cell Composition: Lithium	10	pc	30.00	300.00
		CR2032 Desktop Speaker				
		Two satellite speakers				
		Power Output (RMS): 2.5W+2.5W				
		Peak Power Output: 5W + 5W				
CPIT-PAEF	2	Cable Length: 1.5m Connectivity:	20	рс	3,600.00	72,000.00
Rice		3.5 mm input: 1		pc	3,000.00	
		USB Cable: 1				
		Bluetooth at least v5.3				
		Controls: at least Power and volume controls on right speaker				
		Drone Batteries for DJI Phantom 4				
SCMD-GEF6	3	prone Butteries for Bji'i numtom i	4	pc	6,000.00	24,000.00
CCMD CEE(4	Drone Propellers for JI Phantom RTK 4	2		1 000 00	2 (00 00
SCMD-GEF6	4		2	рс	1,800.00	3,600.00
COLUMN A DA OL		External Storage				
GSITD-AFACI PAN (10)		Type: Solid State Drive (SSD) Capacity: 1 TB				
SCMD-Manil	_	Interface: USB Gen 3.2				
a Bay (4)	5	Sequential Read: Up to 1,050MB/sec	19	pc	6,200.00	117,800.00
SSD-LFP-NS		Sequential Write: Up to 1,000 MB/sec				
HP (5)		Encryption: AES 256-bit hardware encryption				
		External Storage				
		Type: Solid State Drive (SSD)				
		Capacity: 2 TB				
SCMD-GEF6		USB 3.2 Gen 2 x2 Sequential Read: Up to 2,000MB/sec				
(10)	6	Sequential Write: Up to 2,000 MB/sec	10	pc	13,000.00	130,000.00
		Encryption: AES 256-bit hardware				
		encryption				
		with USB-C to USB-C Cable				
		with USB-C to USB-A Cable				

PR #/Division/ Fund Source	Item No.	Description	Quantit y	Unit	Unit Cost	Total
WRMD-INS Various 2024 (10) NSWRRD- HillPEZ-LFP- NSHP-VEG (2)	7	External Storage Type:Hard Disk Drive (HDD) Capacity: 1 TB Interface: USB Gen 3.0 Speed: Up to 5400 RPM	28	pc	3,600.00	100,800.00
CPIT-PAEF Rice (24)	8	Headphone Type: Over-ear Headphone Frequency response: at least 20Hz – 20kHz Max input power: at least 20mW Sensitivity: at least 96dB SPL @1kHz/1mW Impedance: at least 32 ohm Microphone frequency response: at least 100Hz – 10kHz Microphone pickup pattern: Directional Microphone Type: Detachable Connection: 3.55mm jack	24	рс	3,000.00	72,000.00
LSD-ASP-PSP, PD 1435 (10) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (3)	9	HDMI Cable 5M HDMI (Male) to HDMI (Male)	13	рс	700.00	9,100.00
NSWRRD-Hil lPEZ-LFP-NS HP-VEG (7)	10	Internal Storage Type: Solid State Drive (SSD) Capacity: 500 GB Interface: SATA 6 GB/S Sequential Read: Up to 560 MB/s Sequential Write: Up to 530 MB/s	7	pc	3,600.00	25,200.00
GSITD-NSHP (15) GSITD- Regular (3) WRMD-INS Various 2024 (1)	11	Internal Storage Type: Solid State Drive (SSD) Capacity: 1 TB Interface: SATA 6 GB/S Sequential Read: Up to 560 MB/s Sequential Write: Up to 530 MB/s	19	pc	6,600.00	125,400.00
WRMD-INS Various 2024	12	Internal Storage Type: Solid State Drive (SSD) Capacity: 2 TB Interface: SATA 6 GB/S Sequential Read: Up to 560 MB/s Sequential Write: Up to 530 MB/s	2	рс	10,800.00	21,600.00
GSITD- NSHP (11)	13	Internal Storage Type: Solid State Drive (SSD) M.2 Capacity: 1 TB Form Factor: M.2 2280 Interface: PCIe Gen4 x4 Sequential Read Performance: At least 5000MB/s	11	pc	6,000.00	66,000.00

PR #/Division/	Item	Description	Quantit	Unit	Unit Cost	Total
Fund Source	No.		y	Ollit	Ullit Cust	Iotai
runu source		Sequential Write Performance: At least 4000MB/s				
GSITD-NSHP (5)	14	Internal Storage Type: Solid State Drive (SSD) M.2 Capacity: 2 TB Form Factor: M.2 2280 Interface: PCIe Gen4 x4 Sequential Read Performance: At least 7000MB/s Sequential Write Performance: At least 5000MB/s	5	рс	14,500.00	72,500.00
GSITD-AFACI PAN (2) WRMD-INS Various 2024-Rice ESETS (7) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (2) LSD- ASP-PSP, PD 1435 (3)	15	Memory Card Capacity: 128GB Type: MicroSDXC Read Speed: Up to 200 MB/s Write Speed: Up to 90MB/s	14	рс	2,400.00	33,600.00
NSWRRD-Hil lPEZ-LFP-NS HP-VEG (2)	16	Memory Card Capacity: 32GB Type: MicroSDHC Read Speed: Up to 100 MB/s Write Speed: Up to 60MB/s	2	рс	1,000.00	2,000.00
CPIT-PAEF Rice (7) 2024-07-121 2-LSD-NSHP (10)	17	Monitor 24" Size: at least 23.8" Resolution: 1920 x 1080 FHD Panel Type: IPS Panel Curvature: Flat Refresh Rate: 75hz Speaker: 2 x 2W Response Time: 5ms Tilt Adjustment: -5° ~ 23° Ports: HDMI 1.4 D-Sub (VGA) Mic-in Headphone-out	17	рс	7,500.00	127,500.00
GSITD-Trust Fund-AFACI (10) WRMD-INS Various 2024-Rice ESETS(5)	18	OTG USB Flash Drive Capacity: 256GB Speed: USB 3.2 Gen.1 up to 400MB/s read Interface: USB-A Type-C	20	рс	1,450.00	29,000.00

PR #/Division/ Fund Source	Item No.	Description	Quantit y	Unit	Unit Cost	Total
GSITD-AFACI PAN (10) WRMD-INS Various 2024 (5)	19	OTG Flash Drive OTG USB Flash Drive Capacity: 128GB Speed: USB 3.2 Gen.1 up to 300MB/s read Interface: USB-A Type-C	15	рс	850.00	12,750.00
GSITD-AFACI PAN (10) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (10)	20	OTG USB Flash Drive Capacity: 64GB Speed: USB 3.1 Gen.1 up to 150MB/s read Interface: USB-A Type-C	20	рс	450.00	9,000.00
SCMD-GEF6 (10) LSD-ASP-PSP, PD 1435 (20) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (10)	21	Power Bank Battery Capacity: at least 20000 mAh Input ports: Lightning Micro-USB Output ports: USB Type-A (2) I/O: DC 5V - 2.1A	40	pc	2,000.00	80,000.00
NSWRRD-Hil lPEZ-LFP-NS HP-VEG (3)	22	Power Cord for CPU Length 3M	3	рс	350.00	1,050.00
WRMD-INS Various 2024 (5) LSD-ASP-PSP, PD 1435 (5) NSWRRD-Hil IPEZ-LFP-NS HP-VEG (1)	23	Projector Laser Pointer Laser Class: Class 2 Max laser output: Less than 1m W Laser Color: Green Wireless technology: 2.4 GHz Operating distance: up to 30m Battery Type: 2 AAA LCD Display for Timer, Battery power and Reception level	11	pc	4,600.00	50,600.00
WRMD-INS Various 2024 (3)	24	Processor I7-11th gen With intel UHD Graphics Compatible with H510M Pro-E	3	рс	20,000.00	60,000.00
GSITD-AFACI PAN (2) GSITD-NSHP (2) LSD-ASP-PSP, PD 1435 (5)	25	Power Supply Unit Watts: at least 1000 watts Rating: 80+ Gold Type: Full Modular Form Factor: ATX	9	рс	12,000.00	108,000.00
GSITD-NSHP	26	Power Supply Unit Watts: at least 650 Rating: 80+ Bronze Type: Non-Modular Fan Size: 120mm Form Factor: ATX	10	рс	3,800.00	38,000.00

PR	Item	Description	Quantit	IIi.	Huit Coat	Total
#/Division/ Fund Source	No.		y	Unit	Unit Cost	Total
GSITD-NSHP	27	Radom Access Memory (RAM) DDR4 16GB (16x1) 3600 MHz LoDimm	10	рс	4,000.00	40,000.00
WRMD-INS Various 2024 (2)	28	Radom Access Memory (RAM) DDR4 32GB (16x2) 3600 MHz LoDimm	2	рс	5,400.00	10,800.00
CPIT-PAEF Rice (1)	29	Frequency Range Uplink: Up to 890~2570MHz Frequency Range Downlink: Up to 935~2690MHz Gain: 70dB Output Power: 23dBm Power Adapter: EU/US/AU/UK Plug Power supply: AC:110~220V; DC:12V 2A Connector Type: N Female Coverage: Up to 500 sqm without barrier Improve Network Type: 2G Voice and 3G 4G Internet Data	1	рс	3,500.00	3,500.00
GSITD-AFACI PAN (1) WRMD-INS Various 2024 (2) LSD-ASP-PSP, PD 1435 (2)	30	Tripod Payload Capacity: 8.8 lb / 4kg 60mm flat base with a 3/8"-16 thread 1-2 steps of counterbalance Fixed pan and tilt drag Independent pan and tilt locks +90/-75° tilt range 360° pan range Made of magnesium and aluminum Sliding camera plate with safety lock 1/4"-20 and 3/8"-16 camera screws included Low-angle minimum height of 22" Spiked and rubber feet Flip leg locks Center Column and Leveling Adapter Convertible to Full-Function Monopod	5	рс	15,000.00	75,000.00
GSITD-Regul ar	31	Thermal Paste Weight: 10 Grams Volume: 3.6 mL Density: 2.81 g/cm3 Thermal Conductivity: 3.9 W/mk	2	рс	1,800.00	3,600.00
LSD-ASP-PSP, PD 1435 (5) NSWRRD-Hil lPEZ-LFP-NS HP-VEG (5)	32	USB Hub Output Interface: 4 USB 3.0 Ports Input Interface: USB 3.0 Type-A Data transfer up to 5Gbps	10	рс	850.00	8,500.00

PR #/Division/	Item	Description	Quantit	Unit	Unit Cost	Total
Fund Source	No.		y			
NSWRRD-Hil lPEZ-LFP-NS HP-VEG (5)	33	VGA Cable VGA to HDMI Full HD 1080P Converter Adapter Cable With Audio Output Adapter (3.5 mm audio jack)	2	рс	450.00	900.00
SCMD-Manil a Bay (5) LSD-NSHP (3)	34	Uninterruptible Power Supply (UPS) Type: Uninterruptible Power Supply (UPS) Input Capacity: 650w/1200 VA Universal Socket: 4 Sockets Nominal Output Voltage: 230V Nominal Input Voltage: 230V Battery Type: Lead-acid battery Typical Charge Time: 8 hour(s)	37	pc	8,500.00	314,500.00
SCMD- Manila Bay (1)	35	Video/Camera Stabilizer (Basic) Compatible Weight: at least 170-290 g Compatible Thickness: at least 6.9-10 mm Compatible Width: at least 67-84 mm Battery Type: Li-Po 2S Capacity: 1000 mAh Gimbal Charging Port: USB-C Mechanical Range Pan: -161.64° to 173.79° Roll: -120.30° to 211.97° Tilt: -101.64° to 78.55° Max Control Speed: 120°/s Wireless: Bluetooth 5.1	1	pc	10,000.00	10,000.00
2024-07-121 2-LSD-NSHP (3)		Video/Camera Stabilizer (Advance) DSLR Gimbal Tested Payload: at least 3 kg (6.6 lbs) Maximum Controlled Rotation Speed: Pan: 360°/s Tilt: 360°/s Roll: 360°/s Mechanical Endpoint Range: Pan axis control: 360° continuous rotation Roll axis control: -95° to +240° Tilt axis control: -112° to +214° Battery Type: LiPo 2S Battery Capacity: at least 3000 mAh Connections: Bluetooth 5.1 & USB-C (Charging Port) Accesories Connections: (RSA)/NATO Ports 1/4"-20 Mounting Hole Cold Shoe Video Transmission Port (USB-C) RSS Camera Control Port (USB-C) Focus Motor Port (USB-C)	3	pcs	31,000.00	93,000.00

PR #/Division/ Fund Source	Item No.	Description	Quantit y	Unit	Unit Cost	Total
NSWRRD-Hil lPEZ-LFP-NS HP-VEG (10)	36	Voice Recorder Battery Type: Dry Battery (AAA x 2) Built-In Memory: at least 4 GB Built-In Microphone: Stereo (S-Mic) Playback Format: MP3/WMA/AAC-LC/L-PCM Recording Format: MP3/L-PCM With Calendar Search & PC Connectivity	1	pc	6,600.00	6,600.00
SSD-LFP-NS HP (4) ADMIN-Regu lar (3-BGA; 3-Budget) CPIT-PAEF Rice (15)	37	Webcam Max Resolution: 1080p/30 fps – 720p/ 60 fps Camera mega pixel: at least 3mp Focus type: Autofocus Built-in mic: Stereo Autofocus: Yes Lens type: Glass Connection: USB-A plug-and-play Tripod-ready universal mounting clip fits laptops, LCD or monitors Tripod included	25	рс	7,400.00	185,000.00
CPIT-PAEF Rice(15)	38	Wi-Fi Adapter Interface: USB 3.0 Signal: 5GHz (up to 867Mbps) 2.4GHz (up to 400Mbps) 2 External High Gain Antenna Features: MU-MIMO	15	рс	1,200.00	18,000.00
SCMD-GEF6 (10) LSD-ASP-PSP, PD 1435 (10)	39	Wireless mouse and keyboard Keyboard 3 Zone-Layout Adjustable height -tilt legs Special Keys: Music Controls Palm Rest 10-Key Number pad Key type: Deep profile On/Off power switch Mouse Sensor technology: High-precision Optical tracking Number of buttons: 3 (Left/Right-click, Middle click) Scrolling: line-by-line Scroll Wheel: Yes, 2D, mechanical Connect/Power: On/Off power button	20	рс	2,100.00	42,000.00

PR #/Division/ Fund Source	Item No.	Description	Quantit y	Unit	Unit Cost	Total
LSD-ASP-PSP, PD 1435 (10)	40	Wireless mouse Type: Wireless Connection Type: Bluetooth® Smart and 2.4GHz wireless connection Wireless range: 10 m Battery Details: 1 x AA DPI (Min/Max): 1000± Sensor resolution: 1000 dpi Scroll Wheel: 3G Core Number of buttons: 8	10	pc	3,000.00	30,000.00
Brand and model offered should be indicated on the technical proposal per line item Bidder must submit Suppliers Performance Evaluation with at least Satisfactory Rating (submit during post qual)						
	8 (or 1)				2,233,400.00

LOT 4 - TONER CARTRIDGE

ITEM No.	Division	PR Fund	Item	Item Description	Unit	Quant ity	Unit Cost	Total
1	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Cyan	pc	5	₱15,000.00	₱75,000.00
2	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Magenta	рс	5	₱15,000.00	₱75,000.00
3	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Yellow	рс	5	₱15,000.00	₱75,000.00
4	WRMD ADMIN-PROC UREMENT	Rice ESETS 2024(1), Regular(4)	Toner Cartridge	Compatible w/ HP Color Laserjet MFP E87650 HP MFP E87640 Black	pc	5	₱15,000.00	₱75,000.00
5	SSD	LFP-NSHP-SS D(1), STO-REG-SS D(1)	Toner Cartridge	HP MFP E87640 Cyan HP MFP E87640 Magenta HP MFP E87640 Yellow HP MFP E87640 Black	set	2	₱121,000.0 0	₱242,000.00
6	LSD ADMIN-CASH IER	NSHP(30), Regular(2)	Toner Cartridge-Cano n ImageClass (MF756Cx)	Yellow Cartridge (069)	рс	32	₱8,500.00	₱272,000.00
7	LSD ADMIN-CASH IER	NSHP(30), Regular(2)	Toner Cartridge-Cano n ImageClass (MF756Cx)	Magenta Cartridge (069)	рс	32	₱8,500.00	₱272,000.00
8	LSD ADMIN-CASH IER	NSHP(30), Regular(2)	Toner Cartridge-Cano n ImageClass (MF756Cx)	Cyan Cartridge (069)	рс	32	₱8,500.00	₱272,000.00
9	LSD ADMIN-CASH IER	NSHP(26), Regular(2)	Toner Cartridge-Cano n ImageClass (MF756Cx)	Black Cartridge (069)	рс	28	₱8,500.00	₱238,000.00
10	GSITD	REGULAR	Imaging Drum	LaserJet Imaging Drum, HP 126A (CE314A)	рс	3	₱12,000.00	₱36,000.00
11	GSITD	REGULAR	Toner Cartridge	Compatible w/ HP LaserJet E87650 HP W9050MC-Black	рс	1	₱9,000.00	₱9,000.00
12	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270 -Black Toner	рс	1	₱10,000.00	₱10,000.00
13	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270 -Cyan Toner	рс	1	₱10,000.00	₱10,000.00

ITEM No.	Division	PR Fund	Item	Item Description	Unit	Quant ity	Unit Cost	Total
14	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270-Magenta Toner	рс	1	₱10,000.00	₱10,000.00
15	GSITD	REGULAR	Toner Cartridge	Compatible w/ ApeosPort-V C2276 DCC 2270-Yellow Toner	рс	1	₱10,000.00	₱10,000.00
16	SWRRDC-HIL LPEZ	LFP-NSHP-V EGETABLE- HILLPEZ	Toner Brother	Toner Cartridge for Brother Printer (TN-1000)	рс	3	₱2,000.00	₱6,000.00
17	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Black	рс	7	₱7,700.00	₱53,900.00
18	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Cyan	рс	6	₱8,360.00	₱50,160.00
19	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Yellow	рс	5	₱8,360.00	₱41,800.00
20	SCMD	Manila Bay	Toner Cartridge	Genuine Ink Toner for HP Color Laserjet Pro M252n, HP 201X, CF400X, Magenta	рс	5	₱8,360.00	₱ 41,800.00
25	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576 , Yellow Toner	рс	15	₱17,000.00	₱255,000.00
26	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Magenta Toner	рс	15	₱17,000.00	₱255,000.00
27	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Black Toner	рс	25	₱12,000.00	₱300,000.00
28	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Cyan Toner	рс	15	₱17,000.00	₱255,000.00
29	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Waste Toner	рс	15	₱3,500.00	₱52,500.00
30	LSD	NSHP	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Drum Cartridge	рс	15	₱15,000.00	₱225,000.00
31	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576 Fuji Xerox Cartridge Black (CT201370)	рс	2	₱12,000.00	₱24,000.00
32	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576, Fuji Xerox Cartridge Cyan (CT201371)	рс	2	₱17,000.00	₱34,000.00

ITEM No.	Division	PR Fund	Item	Item Description	Unit	Quant ity	Unit Cost	Total
33	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576,Fuji Xerox Cartridge Magenta (CT201372)	pc	2	₱17,000.00	₱34,000.00
34	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576,Fuji Xerox Cartridge Yellow (CT201373)	рс	1	₱17,000.00	₱17,000.00
35	ADMIN-DO/A DO	Regular	Toner Cartridge	Compatible w/ ApeosPort-V C5576,Fuji Xerox Waste Toner Bottle R5 CWAA 0751	рс	6	₱3,500.00	₱21,000.00
36	ADMIN-PROC UREMENT	Regular	Imaging Drum	HP MFP E87640 Drum	рс	2	₱13,000.00	₱26,000.00
37	ADMIN-PROP ERTY	Regular	Toner Cartridge	Black Toner - Apeosport-IV 3065	рс	8	₱15,000.00	₱120,000.00
38	ADMIN-PROP ERTY	Regular	Toner Cartridge	Drum Cartridge- Apeosport-IV 3065	рс	4	₱20,000.00	₱80,000.00
39	SSD	LFP-NSHP-SS D	Toner Cartridge	Compatible w/ Toshiba E-studio 2500AC Toner TFC200UC-Black TFC200UC-Cyan TFC200UM-Magenta TFC200UY-Yellow	set	1	₱50,000.00	₱50,000.00
Total								

Note: Expiration of Inks/Cartridges/Toners must be atleast 18-24 months upon delivery

LOT 5 - INK CARTRIDGE

			INK C	ARTRIDGE				
				Item		Quanti		
	Division	PR Fund	Item	Description	Unit	ty	Unit Cost	Total
1	SWRRD	LFP-NSHP(3),	Ink Cartridge	HP 680-Black	рс	66	₱700.00	₱46,200.00
	ADMIN-P	SWRRD-LFP-NSHP-						
	ROCURE	PHILREC SOIL (1)						
	MENT	RD-OAP-SES(2),						
		Regular(60)						
2	SWRRD	LFP-NSHP(3),	Ink Cartridge	HP 680-Color	рс	65	₱700.00	₱ 45,500.00
	ADMIN-P	SWRRD-LFP-NSHP-						
	ROCURE	PHILREC SOIL (1)						
	MENT	RD-OAP-SES(1),						
		Regular(60)						
3	LSD	NSHP(11),	Ink Cartridge	Epson T9481	рс	16	₱4,700.00	₱75,200.00
		Regular(5)		Orginal Black				
<u> </u>	FO	NICLID(4.4)		Ink Pack		1.5	5 4.700.00	
4	LSD	NSHP(11),	Ink Cartridge	Epson T9482	рс	16	₱4,700.00	₱75,200.00
	ADMIN-IN FO	Regular(5)		Orginal Cyan Ink Pack				
5	LSD	NSHP(11),	Ink Cartridge	Epson T9483	рс	16	₱ 4,700.00	₱75,200.00
		Regular(5)	ilik Cartiluge	Orginal	βC	10	1 4,700.00	1 73,200.00
	FO	negulai (5)		Magenta Ink				
				Pack				
6	LSD	NSHP(11),	Ink Cartridge	Epson T9484	рс	16	₱4,700.00	₱75,200.00
	ADMIN-IN	Regular(5)		Orginal Yellow	ľ		•	
	FO			Ink Pack				
7	ADMIN-B	BUDGET-Regular(2	Ink Cartridge	Compatible	рс	19	₱4,000.00	₱76,000.00
	UDGET),		with				
	ADMIN-C	CASHIER-Regular(8		WF-C5790,T9				
	ASHIER),		48 Yellow				
	ADMIN-A	ACCOUNTING-Reg						
	CCOUNTI	ular(8)						
	NG	RD-REG-HIGHPEZ(
	SWRRDC-	1)						
8	HIGHPEZ	DUDCET Pacific	Inle Coutsides	Compatible	nc	10	₽4.000.00	₽76 000 00
8	ADMIN-B UDGET	BUDGET-Regular	Ink Cartridge	Compatible with	рс	19	₱ 4,000.00	₱76,000.00
	ADMIN-C	(2), CASHIER-Regular		WF-C5790,T9				
	ASHIER	(8),		48 Magenta				
	ADMIN-A	ACCOUNTING-		.o magerita				
	CCOUNTI	Regular(8)						
	NG	RD-REG-HIGHPEZ						
	SWRRDC-	(1)						
	HIGHPEZ							
9	ADMIN-B	BUDGET-Regular(2	Ink Cartridge	Compatible	рс	19	₱4,000.00	₱76,000.00
	UDGET),	-	with				
	ADMIN-C	CASHIER-Regular(8		WF-C5790,T9				
	ASHIER),		48 Cyan				
	ADMIN-A	ACCOUNTING-Reg						
	CCOUNTI	ular(8)						

			INK	CARTRIDGE				
				Item		Quanti		
	Division	PR Fund	Item	Description	Unit	ty	Unit Cost	Total
	NG	RD-REG-HIGHPEZ(
	SWRRDC-	1)						
	HIGHPEZ							
10	ADMIN-B	BUDGET-Regular(2	Ink Cartridge	Compatible	рс	28	₱ 4,000.00	₱112,000.00
	UDGET),		with				
	ADMIN-C	CASHIER-Regular(7		WF-C5790,T9				
	ASHIER),		48 Black				
	ADMIN-A	ACCOUNTING-Reg						
	CCOUNTI	ular(18)						
	NG	RD-REG-HIGHPEZ(
	SWRRDC-	1)						
	HIGHPEZ							
11	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1	₱10,500.00	₱10,500.00
				300-ml				
				Magenta				
				DesignJet				
				Original Ink				
12	GSITD	DECLUAD	Ind. Contrides	Cartridge HP 730		1	₱10.500.00	₱10,500.00
12	טוונט	REGULAR	Ink Cartridge	300-ml Yellow	рс	1	₱10,500.00	1 10,500.00
				DesignJet				
				Original Ink				
				Cartridge				
13	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1	₱10,500.00	₱10,500.00
	03110	INEGOLAIN	mik cartriage	300-ml Cyan	PC	*	1 10,500.00	1 10,500.00
				DesignJet				
				Original Ink				
				Cartridge,				
				P2V68A				
14	GSITD	REGULAR	Ink Cartridge	HP 730	рс	2	₱10,500.00	₱21,000.00
				300-ml Photo				
				Black				
				DesignJet				
				Original Ink				
				Cartridge,				
				P2V72A				
15	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1	₱10,500.00	₱10,500.00
				300-ml Gray				
				DesignJet				
				Original Ink				
				Cartridge				
	00170	DECUM 4.5		P2V72A		-	B40 =00 00	B40 =05 55
16	GSITD	REGULAR	Ink Cartridge	HP 730	рс	1	₱10,500.00	₱10,500.00
				300-ml Matte				
				Black				
17	CCITO	DECLUAD.	Inde Contact -	DesignJet	<u> </u>	2	₽ 0 000 00	₽ 1 € 000 00
17	GSITD	REGULAR	Ink Cartridge	HP 416A (W2040A),	рс	2	₱8,000.00	₱16,000.00
				Black				
L		l .	l	Diack				

			INK C	ARTRIDGE	_			
				Item		Quanti		
	Division	PR Fund	Item	Description	Unit	ty	Unit Cost	Total
18	GSITD	REGULAR	Ink Cartridge	HP 416A (W2043A), Magenta	рс	2	₱9,000.00	₱18,000.00
19	GSITD	REGULAR	Ink Cartridge	HP 416A (W2042A), Yellow	рс	2	₱9,000.00	₱18,000.00
20	GSITD	REGULAR	Ink Cartridge	HP 416A (W2041A), Cyan	рс	2	₱9,000.00	₱18,000.00
21	GSITD	REGULAR	Ink Cartridge	HP Black 63	рс	2	₱1,900.00	₱3,800.00
22	GSITD	REGULAR	Ink Cartridge	HP Tri-Color 63	рс	2	₱2,500.00	₱5,000.00
23	SCMD	Manila Bay	Ink Cartridge	Genuine Ink Cartridge HP 682, Tri-Color	рс	27	₱800.00	₱21,600.00
24	SCMD	Manila Bay	Ink Cartridge	Genuine Ink Cartridge HP 682, black	рс	27	₱800.00	₱21,600.00
25	SWRRD	LFP-NSHP	Ink Cartridge	Canon 745-Black	рс	8	₱800.00	₱6,400.00
26	SWRRD	RD-OAP-SES	Ink Cartridge	Canon Pixma 47 (Black)	рс	1	₱1,500.00	₱1,500.00
27	SWRRD	RD-OAP-SES	Ink Cartridge	Canon Pixma 57 (Color)	рс	1	₱1,500.00	₱1,500.00
28	SWRRD	RD-ISO-SWRRD	Ink Cartridge	HP 704 Black Ink	рс	1	₱700.00	₱700.00
29	SWRRD	RD-ISO-SWRRD	Ink Cartridge	HP 704 Tri Color Ink	рс	1	₱700.00	₱700.00
30	LSD	Regular	Ink Cartridge	Compatible with Epson L120, Ink-Black	рс	13	₱500.00	₱6,500.00
31	LSD	Regular	Ink Cartridge	Compatible with Epson L120, Ink-Colored	рс	10	₱500.00	₱5,000.00
32	ADMIN-B UDGET	Regular	Ink Cartridge-HP Laser Jet	Compatible w/ HP LaserJet E87650, Yellow W9052MC, Magenta W9053MC, Cyan W9051MC, Black W9050MC	set	1	₱35,000.00	₱35,000.00
33	ADMIN-C	Regular	Ink Cartridge	Laserjet	рс	4	₱3,500.00	₱14,000.00

				INK CARTRIDGE				
				Item		Quanti		
	Division	PR Fund	Item	Description	Unit	ty	Unit Cost	Total
	ASHIER			Cartridge 17A				
				Black				
	Total							
Note	ote:Expiration of Inks/Cartridges/Toners must be atleast 18-24 months upon delivery							

LOT 6 - INK TANK

				INK TANK				
	Division	PR Fund	Item	Item Description	Unit	Quan tity	Unit Cost	Total
1	SHIER ADMIN-AC COUNTING	REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (3) ADMIN-ACCOUN TING(4), ADMIN-RECORD S(4), ADMIN-BGA)(4), LFP-NSHP(SWRR D)(3) RD-REG-HIGHPE Z(9)	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BT5000M, Magenta	bottl e	35	₱600.00	₱21,000.00
2	IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER ADMIN-AC COUNTING	REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (3) ADMIN-ACCOUN TING(4), ADMIN-RECORD	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BT5000C, Cyan	bottl e	34	₱600.00	₱20,400.00
3	IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER ADMIN-AC COUNTING	REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (3) ADMIN-ACCOUN TING(4), ADMIN-RECORD S(4), ADMIN-BGA)(4), LFP-NSHP(SWRR	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BT5000Y, Yellow	bottl e	35	₱600.00	₱21,000.00
4	GSITD SWRRD SWRRDC-H IGHPEZ ADMIN-PE RSONNEL ADMIN-CA SHIER	REGULAR(GSITD(6) ADMIN-PERSON NEL(2), ADMIN-CASHIER (4) ADMIN-ACCOUN TING(8),	Ink Tank	Brother Eco Tank Brother HL-T4000DW (Printer) BTD60BK, Black	bottl e	51	₱600.00	₱30,600.00

				INK TANK				
	Division	PR Fund	Item	Item Description	Unit	Quan tity	Unit Cost	Total
	ADMIN-AC COUNTING ADMIN-RE CORDS ADMIN-BG A	ADMIN-RECORD S(7), ADMIN-BGA)(4), LFP-NSHP(SWRR D)(3) RD-REG-HIGHPE Z(17)						
5	SWRRDC-H ILLPEZ	LFP-NSHP-VEGET ABLE-HILLPEZ	Ink for Brother Printer for A3 size	Brother Eco Tank Brother HL-T4000DW (Printer) BTD60BK, Black, BT5000Y, Yellow, BT5000C, Cyan, BT5000M, Magenta	set	4	₱2,500.00	₱10,000.00
6	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O	SCMD-Outscalin g of SLRMA(DA BAR Trust)(30), SWRRD-LFP-NSH P(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) SWRRD-RD-OAP- SES(3), SWRRD-RD-ISO- SWRRD(3), ADMIN-RECORD S-Regular(7), ADMIN-INFO-Re gular(7)	Ink Tank	Epson 003-Cyan	bottl e	54	₱500.00	₱27,000.00
7	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O	SCMD-Outscalin g of SLRMA(DA BAR Trust)(30), SWRRD-LFP-NSH	Ink Tank	Epson 003-Magenta	bottl e	53	₱500.00	₱26,500.00
8	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O	SCMD-Outscalin g of SLRMA(DA BAR Trust)(30), SWRRD-LFP-NSH	Ink Tank	Epson 003-Yellow	bottl e	53	₱500.00	₱26,500.00

				INK TANK				
	Division	PR Fund	Item	Item Description	Unit	Quan tity	Unit Cost	Total
		ADMIN-RECORD S-Regular(7), ADMIN-INFO-Re gular(7)						
9	SCMD SWRRD ADMIN-RE CORDS ADMIN-INF O WRMD	SCMD-Outscalin g of SLRMA(DA BAR Trust)(10), SWRRD-LFP-NSH P(9), SWRRD-LFP-NSH P-PHILREC SOIL (1) SWRRD-RD-OAP-SES(4), SWRRD-RD-ISO-SWRRD(5), ADMIN-RECORD S-Regular(7), ADMIN-INFO-Re gular(12), WRMD-Rice ESETS 2024(8), WRMD-INS Various 2024(24)	Ink Tank	Epson 003-Black	bottl	80	₱500.00	₱40,000.00
10	WRMD	INS Various 2024	Ink Tank	Epson 003-(Black, Cyan, Magenta, Yellow)	set	10	₱2,000.00	₱20,000.00
11	WRMD	Rice ESETS 2024	Ink Tank	Epson 003-(Black, Cyan, Magenta, Yellow)	set	5	₱2,000.00	₱10,000.00
12	DGET	SWRRD-LFP-NSH P(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) SWRRD-RD-OAP-SES(7), WRMD-INS Various 2024(20), WRMD-Rice ESETS 2024(8), ADMIN-BUDGET-Regular(12)	Ink Tank	GT53-Black	bottl	51	₱500.00	₱25,500.00
13	SWRRD ADMIN-BU DGET	SWRRD-LFP-NSH P(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) SWRRD-OAP-SES (3), ADMIN-BUDGET- Regular(6)	Ink Tank	GT52-Magenta	bottl e	13	₱500.00	₱6,500.00
14	SWRRD ADMIN-BU DGET	LFP-NSHP(3), SWRRD-LFP-NSH P-PHILREC SOIL (1) RD-OAP-SES(3), Regular(6)	Ink Tank	GT52-Cyan	bottl e	13	₱500.00	₱6,500.00

				INK TANK				
	Division	PR Fund	Item	Item Description	Unit	Quan tity	Unit Cost	Total
15	SWRRD	LFP-NSHP(3) SWRRD-LFP-NSH P-PHILREC SOIL (1)	Ink Tank	GT52-Yellow	bottl e	4	₱500.00	₱2,000.00
16	WRMD	Rice ESETS 2024	Ink Tank	GT53 (Black, Cyan, Magenta, Yellow)	set	5	₱2,000.00	₱10,000.00
17	SWRRD WRMD ADMIN-INF O SWRRDC-H IGHPEZ	SWRRD-RD-ISO- SWRRD(5), WRMD-INS Various 2024(26), ADMIN-INFO-Re gular(9) RD-REG-HIGHPE Z(4) SWRRD-LFP-NSH P-PHILREC SOIL (1)	Ink Tank	Epson 664-Black	bottl e	45	₱450.00	₱20,250.00
18	SWRRD WRMD ADMIN-INF O SWRRDC-H IGHPEZ	SWRRD-RD-ISO- SWRRD(2), WRMD-INS Various	Ink Tank	Epson 664-Magenta	bottl e	31	₱450.00	₱13,950.00
	SWRRD WRMD ADMIN-INF O SWRRDC-H IGHPEZ	SWRRD-RD-ISO- SWRRD(2), WRMD-INS Various 2024(20), ADMIN-INFO-Re gular(7) RD-REG-HIGHPE Z(1) SWRRD-LFP-NSH P-PHILREC SOIL (1)			bottl e	31	₱450.00	₱13,950.00
20	WRMD ADMIN-INF O SWRRDC-H IGHPEZ	WRMD-INS	Ink Tank	Epson 664-Yellow	bottl e	29	₱450.00	₱13,050.00
21	GSITD	REGULAR	Pigment Ink	GI-790-Black, 135ml	bottl e	6	₱500.00	₱3,000.00
22	GSITD	REGULAR	Pigment Ink	GI-790-Cyan, 70ml	bottl e	6	₱500.00	₱3,000.00

				INK TANK				
	Division	PR Fund	Item	Item Description	Unit	Quan tity	Unit Cost	Total
23	GSITD	REGULAR	Pigment Ink	GI-790-Magenta, 135ml	bottl e	6	₱500.00	₱3,000.00
24	GSITD	REGULAR	Pigment Ink	GI-790-Yellow, 135ml	bottl e	6	₱500.00	₱3,000.00
25	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Black, 127ml EPSON	bottl e	4	₱1,100.00	₱4,400.00
26	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Cyan, 70ml EPSON	bottl e	5	₱900.00	₱4,500.00
27	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Magenta, 70ml EPSON	bottl e	5	₱900.00	₱4,500.00
28	GSITD	REGULAR	Pigment Ink	Compatible w/ Epson EcoTank L15150 A3 008-Yellow, 70ml	bottl e	5	₱900.00	₱4,500.00
29	ADMIN-BU DGET	Regular	Ink Tank-Eps on L3150	Compatible with Epson L3150, Yellow	рс	5	₱1,300.00	₱6,500.00
30	ADMIN-BU DGET	Regular	Ink Tank-Eps on L3150	Compatible with Epson L3150, Magenta	рс	5	₱1,300.00	₱6,500.00
31	ADMIN-BU DGET	Regular	Ink Tank-Eps on L3150	Compatible with Epson L3150, Cyan	рс	5	₱1,300.00	₱6,500.00
32	ADMIN-BU DGET	Regular	Ink	Compatible with Epson L3150, Black	рс	5	₱1,300.00	₱6,500.00
33	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T300 Black	рс	4	₱500.00	₱2,000.00
34	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T500 Magenta	рс	4	₱500.00	₱2,000.00
35	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T700W Yellow	рс	4	₱500.00	₱2,000.00
36	SSD	STO-REG-SSD	Ink Tank-Bro ther Ink	DCP-T800W Cyan	рс	4	₱500.00	₱2,000.00
37	SWRRD	LFP-NSHP-(PHILR EC SOIL)		Epson 001-Black	bottl e	1	₱600.00	₱600.00
38	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson 001-Cyan	bottl e	1	₱600.00	₱600.00
39	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson 001-Yellow	bottl e	1	₱600.00	₱600.00
40	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson 001-Magenta	bottl e	1	₱600.00	₱600.00
41	SWRRD	LFP-NSHP-(PHILR EC SOIL)	Ink Tank	Epson T7741	bottl e	1	₱1,200.00	₱1,200.00
	•		-		•	•	Total	₱432,200.00

INK TANK								
	Division	PR Fund	Item	Item Description	Unit	Quan tity	Unit Cost	Total
Note: Expiration of Inks/Cartridges/Toners must be atleast 18-24 months upon delivery								

ANNEX B

BSWM Bid Securing Declaration Form

[shall be submitted with the Bid if bidder opts to provide this form of Bid Security]

REPUBLIC OF THE PHILIPP	INES)
CITY OF	S.S

BID SECURING DECLARATION

Project Identification No.: [Insert number]

To: [Insert name and address of the Procuring Entity]

I/We, the undersigned, declare that:

- I/We understand that, according to your conditions, bids must be supported by a Bid Security, which may be in the form of a Bid Securing Declaration.
- I/We shall furnish the required performance security within ten (10) calendar days in/ Case of receipt of Notice of Award (pursuant to GPPB Circular No. 04-2020 and GPPB Resolution No. 16-2020).
- 3. I/We accept that: (a) I/we will be automatically disqualified from bidding for any procurement contract with any procuring entity for a period of two (2) years upon receipt of your Blacklisting Order; and, (b) I/we will pay the applicable fine provided under Section 6 of the Guidelines on the Use of Bid Securing Declaration, within fifteen (15) days from receipt of the written demand by the procuring entity for the commission of acts resulting to the enforcement of the bid securing declaration under Sections 23.1(b), 34.2, 40.1 and 69.1, except 69.1(f), of the IRR of RA No. 9184; without prejudice to other legal action the government may undertake.
- 4. I/We understand that this Bid Securing Declaration shall cease to be valid on the following circumstances:
- Upon expiration of the bid validity period, or any extension thereof pursuant to your request;
- I am/we are declared ineligible or post-disqualified upon receipt of your notice to such effect, and (i) I/we failed to timely file a request for reconsideration or (ii) I/we filed a waiver to avail of said right; and
- c. I am/we are declared the bidder with the Lowest Calculated Responsive Bid, and I/we have furnished the performance security and signed the Contract.

IN WITNESS WHEREOF, I/We have hereunto set my/our hand/s this	day
of [month] [year] at [place of execution].	

[Insert NAME OF BIDDER OR ITS AUTHORIZED
REPRESENTATIVE]
[Insert signatory's legal capacity]
Affiant

[Jurat]
[Format shall be based on the latest Rules on Notarial Practice]

ANNEX C

Omnibus Sworn Statement (Revised) [shall be submitted with the Bid]

REPUBLIC OF THE PHILIPPINES)	
CITY/MUNICIPALITY OF) S.S.	
	AFFIDAVIT

I, [Name of Affiant], of legal age, [Civil Status], [Nationality], and residing at [Address of Affiant], after having been duly sworn in accordance with law, do hereby depose and state that:

1. [Select one, delete the other:]

[If a sole proprietorship:] I am the sole proprietor or authorized representative of [Name of Bidder] with office address at [address of Bidder];

[If a partnership, corporation, cooperative, or joint venture:] I am the duly authorized and designated representative of [Name of Bidder] with office address at [address of Bidder];

0. [Select one, delete the other:]

[If a sole proprietorship:] As the owner and sole proprietor, or authorized representative of [Name of Bidder], I have full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached duly notarized Special Power of Attorney:

[If a partnership, corporation, cooperative, or joint venture:] I am granted full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached [state title of attached document showing proof of authorization (e.g., duly notarized Secretary's Certificate, Board/Partnership Resolution, or Special Power of Attorney, whichever is applicable;)];

- O. [Name of Bidder] is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board, by itself or by relation, membership, association, affiliation, or controlling interest with another blacklisted person or entity as defined and provided for in the Uniform Guidelines on Blacklisting:
- 0. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct:
- [Name of Bidder] is authorizing the Head of the Procuring Entity or its duly authorized representative(s) to verify all the documents submitted;

[Select one, delete the rest:]

[If a sole proprietorship:] The owner or sole proprietor is not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a partnership or cooperative:] None of the officers and members of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a corporation or joint venture:] None of the officers, directors, and controlling stockholders of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

- 0. [Name of Bidder] complies with existing labor laws and standards; and
- 0. [Name of Bidder] is aware of and has undertaken the responsibilities as a Bidder in compliance with the Philippine Bidding Documents, which includes:
- a. Carefully examining all of the Bidding Documents;
- a. Acknowledging all conditions, local or otherwise, affecting the implementation of the Contract;
- a. Making an estimate of the facilities available and needed for the contract to be bid, if any; and
- a. Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].
- 0. [Name of Bidder] did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.

0. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN WITNESS WHEREOF, I have hereunto set my hand this __ day of ____, 20__ at _______, Philippines.

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE]

[Insert signatory's legal capacity]

Affiant

[Jurat]

[Format shall be based on the latest Rules on Notarial Practice]